
MATHS

BOOKS - DEEPTI MATHS (TELUGU ENGLISH)

BINOMIAL THEOREM

EXAMPLES

1. The coe�cient of  in  is

A. 1365

B. 

C. 1315

D. 

Answer: B

x− 6 (x4 − )
15

1

x2

−1365

−1315

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_R6Eow2JjrU9y


Watch Video Solution

2. The term independent of x in  is

A. 3264

B. 2268

C. 1985

D. 2146

Answer: B

Watch Video Solution

( − )
9

4x2

3

3

2x

3. If the coe�cient of  in  are equal then 

Watch Video Solution

x7 and x8 (2 + x/3)n n =

https://dl.doubtnut.com/l/_R6Eow2JjrU9y
https://dl.doubtnut.com/l/_tTKsjY7cacXF
https://dl.doubtnut.com/l/_yBU92HnZba7w


4. The sum of the coe�cient of odd powers of x in the expansion of

 is

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

(1 + x + x2)
15

315 + 1
2

315 − 1
2

315

2

5. If the number of terms in the expansion of  is

78, then 

A. 9

B. 10

C. 11

(21 / 3x + 3− 1 / 3y + 2z)
n

n =

https://dl.doubtnut.com/l/_4b1PcMsWiEwy
https://dl.doubtnut.com/l/_l62KkEBJhL8R


D. 12

Answer: C

Watch Video Solution

6. If , then 

A. 3

B. 5

C. 7

D. 9

Answer: D

Watch Video Solution

+ + + + =
1

1!9!

1

3!7!

1

5!5!

1

7!3!

1

9!1!

2n

10!
n =

7. If , the �rst negative term in the expansion of  is0 < x < 1 (1 + x)27 / 5

https://dl.doubtnut.com/l/_l62KkEBJhL8R
https://dl.doubtnut.com/l/_qx7bC5C0C7wi
https://dl.doubtnut.com/l/_HGTw1d4BegTS


A.  term

B.  term

C.  term

D.  term

Answer: D

Watch Video Solution

5th

6th

7th

8th

8. The number of terms in the expansion of  is

A. 15

B. 16

C. 30

D. 31

Answer: D

Watch Video Solution

(x2 + 18x + 81)
15

https://dl.doubtnut.com/l/_HGTw1d4BegTS
https://dl.doubtnut.com/l/_Wk6g2x819DpP


9. The greatest binomial coe�cient of  is equal to

the coe�cient of in the expansion of . Then 

A. 13,14

B. 14,15

C. 15,16

D. 16,17

Answer: C

View Text Solution

(2x1 / 3 + 3x− 7 / 2)
31

xk (1 + x)31
k =

10. 

A. 

B. 

C. 

1 + + + + …. =
1

4

1.4

4.8

1.4.7

4.8.12

√3

√4

√5

https://dl.doubtnut.com/l/_Wk6g2x819DpP
https://dl.doubtnut.com/l/_G5koCpTQRDGt
https://dl.doubtnut.com/l/_Gm6GsOAXmZmR


EXERCISE 1A (BINOMIAL THEOREM WITH INTEGRAL INDEX)

D. 

Answer: B

Watch Video Solution

√6

1. 

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

(x/3 + 2/y)4 =

+ + +
x4

80
8x3

25y
8x2

3y2

16

2y4

+ + + + 16
x4

80
8x3

27y

8x2

3y2

32x

3y3

+ + + +
x4

81
8x3

27
8x2

3y2

32x

3y3

16

y4

https://dl.doubtnut.com/l/_Gm6GsOAXmZmR
https://dl.doubtnut.com/l/_uUMcVQEN6Cs8
https://dl.doubtnut.com/l/_hT7ZJm0eaEPc


2. The 6th term of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(2 + x)10

10C552x5

10C525x5

10C225x5

10C252x5

3. The 12th term of  is

A. 

B. 

C. 

D. 

(2x − 1)13

−13C2(2x)2

−13C2(2x)2

−12C3(2x)2

12C3(2x)2

https://dl.doubtnut.com/l/_hT7ZJm0eaEPc
https://dl.doubtnut.com/l/_djarZT6ajmcm


Answer: B

Watch Video Solution

4. The 4th term of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x + )
6

2

x3

6C3(x)3( )
22

x2

6C3(x)3( )
32

x3

6C3(x)
2( )

22

x3

6C3(x)2( )
32

x3

5. The 3rd term of  is

A. 

(3x − )
4

y3

6

4C2(3x)2( − )
2

y3

6

https://dl.doubtnut.com/l/_djarZT6ajmcm
https://dl.doubtnut.com/l/_GMepGdi5sNhR
https://dl.doubtnut.com/l/_ZcEra6lPZUKQ


B. 

C. 

D. 

Answer: A

Watch Video Solution

4C2(3x)2( − )
2

y2

6

4C2(3x)3( − )
2

y3

6

4C2(3x)
3( − )

2
y2

6

6. The third term from the end in the expansion of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( − )
83x

5

5

2x

35451

15x4

35455

16x4

39372

15x4

39375

16x4

https://dl.doubtnut.com/l/_ZcEra6lPZUKQ
https://dl.doubtnut.com/l/_Dgd95ehPFMCL


7. The ratio of 3rd and 4th terms of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(x + 2/3x2)
7

x3

3x3

0.9x3

0.3x3

8. The �rst three terms in the expansion of  are

A. 

B. 

C. 

D. 

(1 + x + x2)
10

1, 5x, 11x2

1, 10x, 15x2

1, 10x, 55x2

1, 15x, 50x2

https://dl.doubtnut.com/l/_jOb4VIYXoAmI
https://dl.doubtnut.com/l/_u57RS54na4pf


Answer: C

Watch Video Solution

9. The coe�cient of the 8th term in the expansion of  is

A. 120

B. 7

C. 

D. 210

Answer: A

Watch Video Solution

(1 + x)10

10C8

10. The coe�cient of  in  is

A. 

x8 (3x2 + )
9

5

x3

9C23752

https://dl.doubtnut.com/l/_u57RS54na4pf
https://dl.doubtnut.com/l/_GXlLqmzeysAo
https://dl.doubtnut.com/l/_S9hdG0g7L0AE


B. 

C. 

D. 

Answer: A

Watch Video Solution

9C24552

7C24752

8C23742

11. The coe�cient of x in  is

A. 20c

B. 10c

C. 

D. 

Answer: C

Watch Video Solution

(x2 + )
5c

x

10c3

20c3

https://dl.doubtnut.com/l/_S9hdG0g7L0AE
https://dl.doubtnut.com/l/_NXttEGHP065q
https://dl.doubtnut.com/l/_O2pkoJtTIIKV


12. The coe�cient of  in  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x4 ( − )
10

x

2

3

x2

45
64

243
128

405
256

810

512

13. The coe�cient of  in  is

A. 0

B. 120

C. 420

D. 540

x3 (√x5 + )

6
3

√x3

https://dl.doubtnut.com/l/_O2pkoJtTIIKV
https://dl.doubtnut.com/l/_x0fELa4gfCvD


Answer: D

Watch Video Solution

14. If  occurs in the expansion , then its coe�. Is

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

xr (x + 1/x2)
2n

2nC2n−r

2nC2n/ 3

2nC ( 2n−r ) / 3

15. The coe�cient of  in  is

A. 120

x5 (1 + x2)
5
(1 + x)4

https://dl.doubtnut.com/l/_x0fELa4gfCvD
https://dl.doubtnut.com/l/_nZaU8EAj6EtU
https://dl.doubtnut.com/l/_Lo975JzsWBpv


B. 30

C. 60

D. 55

Answer: C

Watch Video Solution

16. The coe�cient of  in the expansion of 

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x24

(1 + x2)
12
(1 + x12)(1 + x24)

12C6

12C6 + 2

12C6 + 4

12C6 + 6

https://dl.doubtnut.com/l/_Lo975JzsWBpv
https://dl.doubtnut.com/l/_OtFQg6ThxEpG


17. The coe�cient of  in  is

A. 0

B. 1

C. 

D. 

Answer: B

Watch Video Solution

x−n (1 + x)n(1 + )
n1

x

2n

2nCn

18. The coe�cient of  in expansion of  is

A. 

B. 

C. 

D. 

xn (1 + x)(1 − x)n

(n − 1)

( − 1)n− 1
n

( − 1)n− 1(n − 1)2

( − 1)n(1 − n)

https://dl.doubtnut.com/l/_OtFQg6ThxEpG
https://dl.doubtnut.com/l/_IYIMm1kUJ378
https://dl.doubtnut.com/l/_JYP8ORVbGDvK


Answer: D

Watch Video Solution

19. The coe�cient of  in the expansion of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a− 6b4 ( − )
10

1

a

2b

3

1120

27

1120

9

1220

27

1220

9

20. The coe�cient of  in  is

A. 

x2y3z4 (ax − by + cz)
9

1260a2b3c4

https://dl.doubtnut.com/l/_JYP8ORVbGDvK
https://dl.doubtnut.com/l/_PG3n5F0kVNCv
https://dl.doubtnut.com/l/_CdMd9dNYfeox


B. 

C. 

D. 

Answer: B

Watch Video Solution

−1260a2b3c4

1220a2b3c4

−1220a2b3c4

21. In the expansion of  , the coe�cient of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(2x + y + 3z)10
x2y5z3

× 108
10!

2!5!3!

10!

3!4!5!

10!

2!4!3!

10!

2!4!5!

https://dl.doubtnut.com/l/_CdMd9dNYfeox
https://dl.doubtnut.com/l/_FZU1hIqZsdDP
https://dl.doubtnut.com/l/_czZJXTZSNwB5


22. The coe�cient of  in  is

A. 4692

B. 

C. 5052

D. 

Answer: D

Watch Video Solution

x5 (2 − x + 3x2)
6

−4692

−5052

23. The coe�cient of  in  is

A. 990

B. 780

C. 1040

D. 520

x4 (1 + x + x2 + x3)
11

https://dl.doubtnut.com/l/_czZJXTZSNwB5
https://dl.doubtnut.com/l/_7vEiU2urwg4I


Answer: A

Watch Video Solution

24. Find the coe�cient of  in the expansion of .

A. 

B. 132

C. 144

D. 

Answer: A

Watch Video Solution

x7 (1 − x − x2 + x3)
6

−144

−132

25. The coe�cient of  in the expansion of . Is

A. 31

x4 (1 − x + x2 − x3)
4

https://dl.doubtnut.com/l/_7vEiU2urwg4I
https://dl.doubtnut.com/l/_giudrRpoWhWj
https://dl.doubtnut.com/l/_TY6ImhzpODEU


B. 30

C. 25

D. 

Answer: A

Watch Video Solution

−14

26. The coe�cient of  in  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x53
100

∑
r= 0

100Cr(x − 3)100 −r.2r

100C51

100C52

−100C53

100C54

https://dl.doubtnut.com/l/_TY6ImhzpODEU
https://dl.doubtnut.com/l/_vhnnCfgYYFV4


27. Which term of  is independent of x?

A. 6

B. 7

C. 8

D. 9

Answer: C

Watch Video Solution

(ax + b/x)14

28. the term independent of x in  is

A. 5

B. 10

C. 15

D. 20

(x + 1/x)6

https://dl.doubtnut.com/l/_iOIzjSuLZ8GE
https://dl.doubtnut.com/l/_2DewFqE82Y36


Answer: D

Watch Video Solution

29. If  is the term of independent of x in  then 

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

Tr+ 1 (3x − )
8

5

x3
r =

30. Which term of  is independent of x?

A. 2

(√x/3 + 3/2x2)
10

https://dl.doubtnut.com/l/_2DewFqE82Y36
https://dl.doubtnut.com/l/_U1MQcqX75ZiB
https://dl.doubtnut.com/l/_6BO4WQbubzBP


B. 3

C. 4

D. 7

Answer: B

Watch Video Solution

31. The term independent of x in the expansion of  is

A. 

B. 15

C. 24

D. 

Answer: B

Watch Video Solution

(x2 − )
6

1

x

−12

−15

https://dl.doubtnut.com/l/_6BO4WQbubzBP
https://dl.doubtnut.com/l/_s3x08ZcXhdmY


32. The term independent of x in  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(ax + )
14

b

x

14!A7b7

a7b714!

(7!)2

a7b714!

7!

a7b714!

(17)
3

33. The term of independent of x in  is

A. 84

B. 96

C. 112

D. 125

(x2 − )
91

x

https://dl.doubtnut.com/l/_DnlySoYzoXlX
https://dl.doubtnut.com/l/_7d5CbDH3w2QB


Answer: A

Watch Video Solution

34. The term independent of x in 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(2x1 / 2 − 3x− 1 / 3)
20

20C1229312

20C1128311

20C1228312

20C1229311

35. The term independent of x in  is

A. 

( − )

10
√x

2

2

x2

9/64

https://dl.doubtnut.com/l/_7d5CbDH3w2QB
https://dl.doubtnut.com/l/_1hNOGEGqAGFY
https://dl.doubtnut.com/l/_M3yBLkB2yhrD


B. 

C. 

D. 

Answer: D

Watch Video Solution

8/45

64/45

45/64

36. The term independent of x in the expansion of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(√x − )

18
2

√x

(18C9)212

(18C6)26

(18C6)28

−(18C9)29

https://dl.doubtnut.com/l/_M3yBLkB2yhrD
https://dl.doubtnut.com/l/_AUl4OOjZfekT


37. The term independent of x in the expansion of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(2x2 − )
15

3

x3

15C 8
2 37

−15C921035

15C9215

15C93629

38. The term independent of x in  is

A. 

B. 

C. 

D. 

(x2 − 1/3x)
9

28/243

27/245

28/240

25/271

https://dl.doubtnut.com/l/_tVn0nbgrj6pk
https://dl.doubtnut.com/l/_ATMT1JySihl2


Answer: A

Watch Video Solution

39. Independent term of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(√x − 2/x)
18

18C626

18C525

16C626

16C625

40. The term independent of x in the expansion of 

is

( − )

11
2√x

5

1

2x√x

https://dl.doubtnut.com/l/_ATMT1JySihl2
https://dl.doubtnut.com/l/_hmzVHWq1scs0
https://dl.doubtnut.com/l/_lFaFME87PzHG


A. 5th term

B. 6th term

C. 8th term

D. 9th term

Answer: D

View Text Solution

41. The term independent of x in  is

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

(x − 1/x2)
3n

( − 1)n(3n) !

n !(2n) !

( − 1)n(3n !) !

n !

( − 1)n(2n) !

3n !

https://dl.doubtnut.com/l/_lFaFME87PzHG
https://dl.doubtnut.com/l/_LJgim47ImEVw


42. The term independent of x in the expansion of

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(1 + x + 2x3)(3x2 /2 − 1/3x)
9

1/3

1/4

17/54

19/54

43. the tern independent of x in  is

A. 

B. 

C. 

(1 + x + 2x2)(3x2 /2 − 1/3x)
9

7/18

5/18

7/11

https://dl.doubtnut.com/l/_LJgim47ImEVw
https://dl.doubtnut.com/l/_hV1A4IQ6tqhj
https://dl.doubtnut.com/l/_7x50cT68kA1g


D. 

Answer: A

Watch Video Solution

4/7

44. The term independent of x  in the expansion of

 is

A. 105

B. 210

C. 315

D. 420

Answer: B

Watch Video Solution

(x > 0, x ≠ 1)

[ − ]

10
(x + 1)

(x2 / 3 − x1 / 3 + 1)

(x − 1)

(x − √x)

https://dl.doubtnut.com/l/_7x50cT68kA1g
https://dl.doubtnut.com/l/_GcETAccMoNZC


45. If the absolute term (independent of x ) in the expansion of

 is 405 then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(√x − k/x2)
10

k =

±4

±2

±3

±8

46. The greatest value of the term independent of x, as  varies over R, in

the expansion of  is

A. 

B. 

C. 

α

(x cosα + )
20sinα

x

20C10

20C15

20C19

https://dl.doubtnut.com/l/_X9wi8ogkKuRj
https://dl.doubtnut.com/l/_V6PwMjWBpNfV


D. 

Answer: D

View Text Solution

20C10( )
10

1
2

47. If  denotes the rth term in the expansion of  then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Tr (x + 1/y)23

T12 = T13

x2T35 = T12

T12 = xyT13

T12 + T13 = 25

48. Which of the following expansion will have term containing  ?x3

https://dl.doubtnut.com/l/_V6PwMjWBpNfV
https://dl.doubtnut.com/l/_uWDygM17DOFC
https://dl.doubtnut.com/l/_6MSoLlUAbI71


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(x− 1 / 5 + 2x3 / 5)
25

(x3 / 5 + 2x− 1 / 5)
24

(x3 / 5 − 2x− 1 / 5)
23

(x3 / 5 + 2x− 1 / 5)
22

49. The number of terms which are free from radical signs in the

expansion of  is

A. 5

B. 6

C. 7

D. none

Answer: B

(y1 / 5 + x1 / 10)
55

https://dl.doubtnut.com/l/_6MSoLlUAbI71
https://dl.doubtnut.com/l/_AWjdLTDZAgtQ


Watch Video Solution

50. The number integral terms in the expansion of  is

A. 33

B. 34

C. 35

D. 32

Answer: A

Watch Video Solution

(√3 + 8√5)
256

51. The sum of the rational terms in expansion of  is

A. 41

B. 230

C. 530

(√2 + 31 / 5)
10

https://dl.doubtnut.com/l/_AWjdLTDZAgtQ
https://dl.doubtnut.com/l/_yK5c4ml5QQ9Q
https://dl.doubtnut.com/l/_iLubkdAl4CtF


D. none

Answer: A

Watch Video Solution

52. the number of irrational terms in  is

A. 97

B. 98

C. 96

D. 99

Answer: A

Watch Video Solution

( 8√5 + 6√2)
100

53. The sum of the coe�cient of  in  isx32 and x− 17 (x4 − )
15

1

x3

https://dl.doubtnut.com/l/_iLubkdAl4CtF
https://dl.doubtnut.com/l/_Dj8laYQGEgJj
https://dl.doubtnut.com/l/_uA74s9fIb5x7


A. 0

B. 1365

C. 

D. 

Answer: A

Watch Video Solution

−1365

2720

54. If  and the sum of the coe�cient of  in the

expansion of  zero, then

A. 

B. 

C. 

D. 

Answer: D

ab ≠ 0 x7 and x4

( − )
11

x2

a

b

x

a = b

a + b = 0

ab = − 1

ab = 1

https://dl.doubtnut.com/l/_uA74s9fIb5x7
https://dl.doubtnut.com/l/_vFUrJh0Uwn7J


Watch Video Solution

55. If the coe�cient of  in  equals the coe�cient of 

in , then a and b satisfy the relation

A. 0

B. 1

C. 

D. 2

Answer: C

Watch Video Solution

x7 (ax2 + )
11

1

bx
x− 7

(ax − )
111

bx2

−1

56. If the coe�cient of  in  equals the coe�cient of 

in , then a and b satisfy the relation

x7 (ax2 + )
11

1

bx
x− 7

(ax − )
111

bx2

https://dl.doubtnut.com/l/_vFUrJh0Uwn7J
https://dl.doubtnut.com/l/_8R9L5QVa3aR6
https://dl.doubtnut.com/l/_gcTnFiouYagQ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

a − b = 1

a + b = 1

a/b = 1

ab = 1

57. In the binomial expansion of , the sum of 5th and 6th

terms is zero, then

A. 

B. 

C. 

D. 

Answer: D

(a − b)n, n ≥ 5

5

n − 4

6

n − 5

n − 5

6

n − 4
5

https://dl.doubtnut.com/l/_gcTnFiouYagQ
https://dl.doubtnut.com/l/_PxSTqgj141Lh


Watch Video Solution

58. If the coe�cient of rth and  terms in the expansion of 

 are equal,

A. 14

B. 15

C. 18

D. 21

Answer: D

Watch Video Solution

(r + 1)th

(3 + 7x)29

59. If the coe�cient of rth term and  term in the expansion of 

 are in the ration , then 

A. 6

(r + 1)th

(1 + x)20 1: 2 r =

https://dl.doubtnut.com/l/_PxSTqgj141Lh
https://dl.doubtnut.com/l/_bMKTawbDtUyw
https://dl.doubtnut.com/l/_qpZrObcBCmMo


B. 7

C. 8

D. 9

Answer: B

Watch Video Solution

60. If in the expansion of , the coe�cient of  is denoted by 

 then 

A. 0

B. 1

C. 

D. 2

Answer: A

Watch Video Solution

(1 − x)2n− 1
xr

ar ar− 1 + a2n−r =

−1

https://dl.doubtnut.com/l/_qpZrObcBCmMo
https://dl.doubtnut.com/l/_gMqCugbLHKon


61. If the second term in the expansion  is , then

the value of  is

A. 4

B. 3

C. 12

D. 6

Answer: A

Watch Video Solution

(13√a + )

n

a

√a− 1
14a5 / 2

nC3

nC2

62. If the coe�cient of x in  is 270 then 

A. 0

B. 1

C. 3

(x2 + k/x)
5

k =

https://dl.doubtnut.com/l/_gMqCugbLHKon
https://dl.doubtnut.com/l/_tkbPxlKfIBEE
https://dl.doubtnut.com/l/_czzNqYM6vzIy


D. 2

Answer: C

Watch Video Solution

63. If the coe�cient of  in  are equal then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 and x3 (3 + kx)9
k =

9/7

7/9

3/4

4/3

64. If the coe�cient of  in  are equal then x7 and x8 (2 + x/3)n n =

https://dl.doubtnut.com/l/_czzNqYM6vzIy
https://dl.doubtnut.com/l/_RwZrKB3fJoUG
https://dl.doubtnut.com/l/_GgPqOC3kPylS


A. 45

B. 55

C. 35

D. 27

Answer: B

Watch Video Solution

65. If the coe�cients of  term and  term in the

expansion of  are equal then 

A. 1

B. 2

C. 3

D. 4

Answer: A

(2r + 1)th (4r + 5)th

(1 + x)10
r =

https://dl.doubtnut.com/l/_GgPqOC3kPylS
https://dl.doubtnut.com/l/_LQJcSrALhTQN


Watch Video Solution

66. If the 5th term is 24 times the 3rd term in the expansion of 

then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1 + x)11

x =

±4

±2

±3

±8

67. Prove that : If the coe�cients of  and  terms in the

expansion of  are equal, �nd r.

A. 2

(2r + 4)th (r − 2)nd

(1 + x)18

https://dl.doubtnut.com/l/_LQJcSrALhTQN
https://dl.doubtnut.com/l/_u1f3YTqb57rf
https://dl.doubtnut.com/l/_yuIzN7hoD70K


B. 4

C. 6

D. 8

Answer: C

Watch Video Solution

68. The ratio of the coe�cient of  to the term independent of x in 

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x15

(x2 + 2/x)
15

1: 32

32: 1

1: 16

16: 1

https://dl.doubtnut.com/l/_yuIzN7hoD70K
https://dl.doubtnut.com/l/_Li38tRAUI42u


69. The ratio of the coe�cient of  in  and the term of

independent of x in  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x10 (1 − x2)
10

(x − 2/x)10

1: 32

32: 1

1: 16

16: 1

70. The two successive terms in the expansion  whose coe�'s

are in the ratio  are

A. 

B. 

(1 + x)24

4: 1

24C19x
19,24 C20x

20

20C15x
15,20 C15x

10

https://dl.doubtnut.com/l/_Li38tRAUI42u
https://dl.doubtnut.com/l/_msqq5jZC4njl
https://dl.doubtnut.com/l/_5EOWAwOQqjSo


C. 

D. none

Answer: A

Watch Video Solution

24C9x
10,24 C9x

9

71. The coe�cients of three consecutive terms in the expansion of

 are in the ratio , then 

A. 55

B. 60

C. 72

D. 63

Answer: A

Watch Video Solution

(1 + x)n 1: 7: 42 n =

https://dl.doubtnut.com/l/_5EOWAwOQqjSo
https://dl.doubtnut.com/l/_MD0ux5RIi2ku
https://dl.doubtnut.com/l/_fwlHzmN77mpp


72. If the coe�cients of 2nd, 3rd, 4th terms of  are in A.P. then 

A. 12

B. 5

C. 7

D. 9

Answer: C

Watch Video Solution

(1 + x)n

n =

73. If the coe�cients of 5th, 6th, 7th terms of  are in A.P. then 

A. 10

B. 12

C. 14

(1 + x)n

n =

https://dl.doubtnut.com/l/_fwlHzmN77mpp
https://dl.doubtnut.com/l/_ZY4sMEOYCg8b


D. 15

Answer: C

Watch Video Solution

74. If the coe�cients of  in the expansion of  are in

arithmetic progression then 

A. 398

B. 298

C. 

D. 198

Answer: C

Watch Video Solution

x9, x10, x11 (1 + x)n

n2 = 41n =

−398

https://dl.doubtnut.com/l/_ZY4sMEOYCg8b
https://dl.doubtnut.com/l/_GCZ1CPuyhyfS


75. If the coe�cients of 2nd , 3rd and 4th terms of the expansion of

 are in A.P. then the value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1 + x)2n 2n2 − 9n + 7

2n2 + 9n + 7 = 0

2n2 − 9n + 7 = 0

2n2 + 9n − 7 = 0

2n2 + 9n − 7 = 0

76. If 28, 56, 70 are the successive coe�cients of  then 

A. 8

B. 9

C. 10

D. 11

(1 + x)n n =

https://dl.doubtnut.com/l/_JcjCX1I2161I
https://dl.doubtnut.com/l/_94axZiOHYJ9h


Answer: A

Watch Video Solution

77. If the �rst three terms of  are  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(1 + ax)n 1, 6x, 16x2 (a, n) =

(2/3, 9)

(2/5, 8)

(3/2, 6)

(5/2, 3)

78. If the �rst three terms of  are 1, 14, 84 respectively then 

A. 5

(a + b)n n =

https://dl.doubtnut.com/l/_94axZiOHYJ9h
https://dl.doubtnut.com/l/_ZNBF3IpUfM59
https://dl.doubtnut.com/l/_cjJMZUWTwHfl


B. 7

C. 9

D. 11

Answer: B

Watch Video Solution

79. If the 3rd, 4th and 5th terms of  are 720, 1080 and 810

respectively then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(x + a)n

(x, a, n) =

(2, 3, 5)

(3, 5, 7)

(5, 3, 7)

(2, 5, 3)

https://dl.doubtnut.com/l/_cjJMZUWTwHfl
https://dl.doubtnut.com/l/_UYZxBYQAxvRK


80. If the 3rd, 4th and 5th terms of  are 60, 160, 240 respectively

then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(x + a)n

(x, a, n) =

(1, 2, 6)

(2, 1, 6)

(6, 2, 1)

(6, 1, 2)

81. If the 2nd and 3rd terms in the expansion of  are 

 respectively then 

A. 

B. 

(1 + x)n

20a and 180a2 (x, n) =

(2a, 10)

(3a, 8)

https://dl.doubtnut.com/l/_UYZxBYQAxvRK
https://dl.doubtnut.com/l/_cCJlgh58rxd9
https://dl.doubtnut.com/l/_RIf5LK9xQ6QV


C. 

D. 

Answer: A

Watch Video Solution

(3a, 12)

(4a, 7)

82. If the coe�cients of  in the expansion of 

 in powers of x are both zero, then  is

equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x3 and x4

(1 + ax + bx3)(1 − 2x)18 (a, b)

(14, )
272
3

(16, )
272
3

(16, )
251

3

(14, )
251

3

https://dl.doubtnut.com/l/_RIf5LK9xQ6QV
https://dl.doubtnut.com/l/_gN3q8xXNtk8l


83. 5th term of  is 10. Then 

A. 

B. 3

C. 

D. 9

Answer: C

Watch Video Solution

(2x2 + )
5

3

x
x =

±3

±9

84. If the third time in the expansion of  1 then 

A. 1

B. 10

C. 100

D. 

( + x log10 x)
1

x
x =

1/√100

https://dl.doubtnut.com/l/_gN3q8xXNtk8l
https://dl.doubtnut.com/l/_2gZrppldTR5A
https://dl.doubtnut.com/l/_OyHFpO6XalKI


Answer: B

View Text Solution

85. If the fourth term in the expansion of  is

equal to 200 and  then 

A. 100

B. 10

C. 1

D. 

Answer: B

Watch Video Solution

(√x1 / ( logx+ 1 ) + x1 / 12)
6

x > 1 x =

1/√10

86. If the 6th term in the expansion of  is 5600,

then the value of 

( + x2 log10 x)
81

x8 / 3

x =

https://dl.doubtnut.com/l/_OyHFpO6XalKI
https://dl.doubtnut.com/l/_qwdtUwAcfRbG
https://dl.doubtnut.com/l/_67gX97YGbV8m


A. 100

B. 10

C. 1

D. 

Answer: B

Watch Video Solution

1/√10

87. If the third term in the expansion of  is 1000, then 

A. 100

B. 10

C. 1

D. 

Answer: A

( + xlog10 xx)
5

1

x

x =

1/√10

https://dl.doubtnut.com/l/_67gX97YGbV8m
https://dl.doubtnut.com/l/_QMl6oJaXTu6b


View Text Solution

88. If the third term in the expansion of  is  then x is

A. 1

B. 10

C. 

D. 

Answer: B

Watch Video Solution

(x + x log10 x)5 106

102

103

89. If the ratio of the 7th term from the beginning to the 7th term from

the end in the expansion of  is , then x is

A. 9

(√2 + )

x
1

√3

1

6

https://dl.doubtnut.com/l/_QMl6oJaXTu6b
https://dl.doubtnut.com/l/_SoKRwKuc1oaS
https://dl.doubtnut.com/l/_u67wczuo5kvj


B. 6

C. 12

D. none of these

Answer: A

Watch Video Solution

90. If two consecutive terms in the expansion of  are equal to

where n is a positive integer then  is

A. a positive integer

B. a negative integer

C. an even integer

D. an odd integer

Answer: A

Watch Video Solution

(x + a)n

(n + 1)a

x + a

https://dl.doubtnut.com/l/_u67wczuo5kvj
https://dl.doubtnut.com/l/_a9zFgioflMhH


91. If the coe�cient of pth term in the expansion of  is p and the

coe�cient of  term is q then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1 + x)n

(p + 1)th n =

p + q + 1

p + q − 1

p − q − 1

p − q + 1

92. If p and q are the coe�cients of  in 

respectively then 

A. q

B. 2

xn (1 + x)2n− 1 and (1 + x)2n

2p =

https://dl.doubtnut.com/l/_a9zFgioflMhH
https://dl.doubtnut.com/l/_oxpdAOErV7oU
https://dl.doubtnut.com/l/_mSe8IkUSt43K


C. 1

D. 3

Answer: A

Watch Video Solution

93. If the 5th term is 4 times the 4th term and the 4th term is 6 times the

3rd in the expansion of  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(1 + x)n (x, n) =

(2, 11)

(3, 10)

(11, 2)

(10, 3)

https://dl.doubtnut.com/l/_mSe8IkUSt43K
https://dl.doubtnut.com/l/_iaCxGrr8bCdE
https://dl.doubtnut.com/l/_UrmsHL9Cwj5E


94. If  are the coe�cients of 2nd, 3rd, 4th and 5th terms of

respectively in  then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a1, a2, a3, a4

(1 + x)n + =
a1

a1 + a2

a3

a3 + a4

a2

a2 + a3

2a2

a2 + a3

a3

a2 + a3

2a3

a2 + a3

95. If P and Q are the sum of odd terms and the sum of even terms

respectively in the expansion of  then prove that  

A. 

B. 

(x + a)n

P 2 − Q2 = (x2 − a2)
n

(x2 + a2)
n

(x2 − a2)
n

https://dl.doubtnut.com/l/_UrmsHL9Cwj5E
https://dl.doubtnut.com/l/_VepmKAITqXAK


C. 

D. 

Answer: B

Watch Video Solution

(a2 − x2)
n

xa − an

96. If the sum of odd terms and the sum of even terms in the expansion

of  are p and q respectively then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(x + a)n p2 + q2 =

(x2 + a2)
n

(x2 − a2)
n

[(x + a)2n]
1

2

[(x + a)2n + (x − a)2n]
1

2

https://dl.doubtnut.com/l/_VepmKAITqXAK
https://dl.doubtnut.com/l/_7oQwOVKD8Be6
https://dl.doubtnut.com/l/_SJOmSu3sxBcp


97. If P and Q are the sum of odd terms and the sum of even terms

respectively in the expansion of  then prove that  

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(x + a)n

4PQ = (x + a)2n − (x − a)2n

(x + a)2n − (x − a)2n

(x2 − a2)
n

+ (x + a)2n

(x2 − a2)
n

− (x − a)2n

(x2 + a2)
n

+ (x − a)2n

98. The coe�cient of  in the expansion of  is

A. 

B. 

xp (x2 + )
2n

1

x

(2n) !

.
( 4n−p ) !

3 !

( 2n−p ) !

3 !

(2n) !

( ) !. ( ) !
4n−p !

3

2n+p !

3

https://dl.doubtnut.com/l/_SJOmSu3sxBcp
https://dl.doubtnut.com/l/_Pgn9rkrxHzTG


C. 

D. 

Answer: B

Watch Video Solution

(2n) !

( ) !. ( ) !
4n+p !

3

2n−p !

3

(2n) !

.
( 4n+p ! )

3 !

( 2n+p ! )

3 !

99. If  represent the terms in the expansion of ,

then the value of 

is

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

T0, T1, T2, …Tn (x + a)
n

(T0 − T2 + T4 − T6 + …)
2

+ (T1 − T3 + T5 − …. )
2

(x2 + a2)
2

(x2 + a2)
n

(a2 − x2)
n

https://dl.doubtnut.com/l/_Pgn9rkrxHzTG
https://dl.doubtnut.com/l/_CiDLpa7kK1UV


100. The expansion  is a

polynomial of degree

A. 5

B. 6

C. 7

D. 8

Answer: C

Watch Video Solution

[x + (x3 − 1)
1 / 2
]

5
+ [x − (x3 − 1)

1 / 2
]

5

101. If

, then 

A. 11

{(1 + )

n

− (1 − )

n

} = a0 + a1x + ... +
1

√4x + 1

√4x + 1
2

√4x + 1
2

n =

https://dl.doubtnut.com/l/_CiDLpa7kK1UV
https://dl.doubtnut.com/l/_E18rlmzE296Y
https://dl.doubtnut.com/l/_IPDuBeAoJJkR


B. 9

C. 10

D. none of these

Answer: A

Watch Video Solution

102. 

A. 

B. 

C. 99

D. 198

Answer: D

Watch Video Solution

(√2 + 1)
6

+ (√2 − 1)
6

=

198√2

992√2

https://dl.doubtnut.com/l/_IPDuBeAoJJkR
https://dl.doubtnut.com/l/_cljqJm74BcqT
https://dl.doubtnut.com/l/_sXk82hpHThJp


103. Larger of 

A. 

B. 

C. can not be determined

D. none

Answer: B

Watch Video Solution

9950 + 10050 and 10150

9950 + 10050

10150

104. Larger of  is

A. 

B. 

C. can not be determined

D. none

199100 + 200100 and 201100

199100 + 200100

201100

https://dl.doubtnut.com/l/_sXk82hpHThJp
https://dl.doubtnut.com/l/_s6J8AQQAa4p2


Answer: B

Watch Video Solution

105.  is divided by

A. 9

B. 10

C. 11

D. 12

Answer: B

Watch Video Solution

119 + 911

106. If  is a positive integer then  is divided by

A. 90

n 11n − 10n − 1

https://dl.doubtnut.com/l/_s6J8AQQAa4p2
https://dl.doubtnut.com/l/_tEaV66v5JpQ7
https://dl.doubtnut.com/l/_ybScn8OvaiQw


B. 100

C. 110

D. 120

Answer: B

Watch Video Solution

107. If  is a positive integer then  is divided by

A. 64

B. 56

C. 72

D. 83

Answer: A

View Text Solution

n 49n + 16n − 1

https://dl.doubtnut.com/l/_ybScn8OvaiQw
https://dl.doubtnut.com/l/_1lZWuTulWZmD
https://dl.doubtnut.com/l/_9g3WlRjVLcOz


108. The remainder when  is divided by 17 is

A. 1

B. 2

C. 8

D. none of these

Answer: A

Watch Video Solution

22000

109. The remainder left out when  is divided by 9 is

A. 2

B. 7

C. 8

D. 0

82n − (62)2n+ 1

https://dl.doubtnut.com/l/_9g3WlRjVLcOz
https://dl.doubtnut.com/l/_53CyERqRqonb


Answer: A

Watch Video Solution

110. If  where  are positive integer , 

then I is

A. any integer

B. an even integer

C. an odd integer

D. not determined

Answer: C

Watch Video Solution

(3 + √8)
n

− I + F In 0 < F < 1

111. If  when I, n are positive integers, 

then 

(4 + √15)
n

= I + F 0 < F < 1

(I + F )(1 − F ) =

https://dl.doubtnut.com/l/_53CyERqRqonb
https://dl.doubtnut.com/l/_bzHXOzDDbRZe
https://dl.doubtnut.com/l/_IlPdNE7aegF4


A. 0

B. 1

C. 

D. 2

Answer: B

Watch Video Solution

−1

112. If  where I and n are +ve integers and F is +ve

proper fraction, then 

A. 0

B. 1

C. 

D. none of these

Answer: B

(7 + 4√3)
n

= I + F

(I + F )(1 − F ) =

−1

https://dl.doubtnut.com/l/_IlPdNE7aegF4
https://dl.doubtnut.com/l/_pG8SE2RtyuBb


Watch Video Solution

113. Let . Then 

A. 1

B. 

C. 

D. 

Answer: D

Watch Video Solution

R = (5√5 + 11)
2n+ 1

, f = R − [R] Rf =

2n

22n

42n+ 1

114. If , where [R] denotes the

greatest integer less than or equal to R thwn 

A. 

B. 

(6√6 + 14)
2n+ 1

= R and F = [R]

RF =

42n+ 1

42n− 1

https://dl.doubtnut.com/l/_pG8SE2RtyuBb
https://dl.doubtnut.com/l/_FIT4fMakrKby
https://dl.doubtnut.com/l/_xGzwIfbwRRwi


C. 

D. 

Answer: C

Watch Video Solution

202n+ 1

202n− 1

115. If , where [R] denotes the

greatest integer less than or equal then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

R = (5 + √21)
2n+ 1

and f = R − [R]

R(1 − f) =

42n+ 1

42n− 1

202n+ 1

202n− 1

https://dl.doubtnut.com/l/_xGzwIfbwRRwi
https://dl.doubtnut.com/l/_zEcth6vlZN3s
https://dl.doubtnut.com/l/_F1BzARllcrsV


116. Let  where [ ] denotes the

greatest integer function , then 

A. 1

B. 

C. 

D. 

Answer: A

Watch Video Solution

R = (2 + √3)
2n

and f = R − [R]

R(1 − f) =

22n

22n − 1

2nCn

117. For natural numbers m, n if

 then

 is

A. 

B. 

(1 − y)m(1 + y)n = 1 + a1y + a2y
2 + …, and a1 = a2 = 10,

(m, n)

(45, 35)

(35, 45)

https://dl.doubtnut.com/l/_F1BzARllcrsV
https://dl.doubtnut.com/l/_dlR6WklfCe6e


C. 

D. 

Answer: B

Watch Video Solution

(20, 45)

(35, 20)

118. The middle term in the expansion of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(x + )
10

1

x

10C6

−10C6

−10C5

10C5

https://dl.doubtnut.com/l/_dlR6WklfCe6e
https://dl.doubtnut.com/l/_aA4Fmm8D7JbG


119. The middle term of  is

A. 252

B. 255

C. 

D. 

Answer: D

Watch Video Solution

(a/x − x/a)10

−255

−252

120. Middle term in the expansion of  is

A. 

B. 

C. 

D. 

(2x − )
15

3

x

−15C72837x

15C72837x

−15C628
x

15C62837x

https://dl.doubtnut.com/l/_V8VoyxqDLEoF
https://dl.doubtnut.com/l/_dIweQdldu31C


Answer: A

Watch Video Solution

121. The middle term of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(x + )
2n

1

x

1.3.5…. (2n − 1)2n

n !

(2n) !

n !

(3n) !

(n !)
2

1.3.5…(2n − 1)

(n !)
2

122. The middle terms of  are

A. 

( + )

13
x3 / 2y

2

2

xy3 / 2

13C6 ,13 C7
x9 / 2

2y2

2x2

y9 / 2

https://dl.doubtnut.com/l/_dIweQdldu31C
https://dl.doubtnut.com/l/_FcGW2n9ApiWm
https://dl.doubtnut.com/l/_NIoO4nFquWxV


B. 

C. 

D. 

Answer: A

Watch Video Solution

13C7 ,13 C7
x9 / 2

2y2

2x2

y9 / 2

13C7 ,13 C6
x9 / 2

2y2

2x2

y9 / 2

13C6 ,13 C6
x9 / 2

2y2

2x2

y9 / 2

123. The middle terms of  are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(3x2 + 5/x3)
11

11C5 ,11 C6
3656

x3

3655

x8

11C5 ,11 C6
3556

x3

3556

x8

11C5 ,11 C6
3556

x3

3655

x8

11C5 ,11 C6
3655

x3

3556

x8

https://dl.doubtnut.com/l/_NIoO4nFquWxV
https://dl.doubtnut.com/l/_MTBwGs81hyjr
https://dl.doubtnut.com/l/_wPuAYTBvWuz2


124. The middle term of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(1 − 3x + 3x2 − x3)
2n

6nC3n( − x)3n

2nCn( − x)3n

5nC2n( − x)3
n

4nC3n( − x)3n

125. If the middle term of  is  then 

A. 

B. 

C. 

D. 

(1 + x)2n 1.3.5…. (2n − 1)k

n !
k =

(3x)n+ 1

(2x)n+ 1

(2x)n

(3x)n

https://dl.doubtnut.com/l/_wPuAYTBvWuz2
https://dl.doubtnut.com/l/_XUjwnLx7ncH8


Answer: C

Watch Video Solution

126. The greatest coe�cient of  is

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

(1 + x)10

10! /5!6!

10! /(5!)2

10! /5!7!

127. The greatest coe�. of  is

A. 

(x/y + y/x)2n+ 1

(2n + 1) !

n !(n + 1) !

https://dl.doubtnut.com/l/_XUjwnLx7ncH8
https://dl.doubtnut.com/l/_IxyYv5yCjCdO
https://dl.doubtnut.com/l/_PJrTABu4zJH1


B. 

C. 

D. none

Answer: A

View Text Solution

2n !

n !(n + 1) !

n !

2n !(n + 1) !

128. The value of the greatest term in  is

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

√3(1 + 1/√3)
20

20C6

25
20C7

27
15C6

23

https://dl.doubtnut.com/l/_PJrTABu4zJH1
https://dl.doubtnut.com/l/_pgRdGmbZ025o
https://dl.doubtnut.com/l/_uE3oFRYRLSRO


129. The coe�cient of the middle term in the binomial expansion in

powers of x of  is the same if 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(1 + αx)4 and (1 − αx)6
α =

−5/3

3/5

−3/10

10/3

130. If the middle term in the expansion of  is the greatest term,

then x lies in the interval

A. 

B. 

C. 

(1 + x)2n

( , )
n

x + 1

n + 1

n

( , )
n + 1

n

n

n + 1

(n − 2, n)

https://dl.doubtnut.com/l/_uE3oFRYRLSRO
https://dl.doubtnut.com/l/_hJMCBzFYw1IA


D. 

Answer: A

Watch Video Solution

(n − 1, n)

131. Which term is the numerically greatest in  when  ?

A. 7

B. 6

C. 5

D. 8

Answer: A

Watch Video Solution

(1 − 3x)10
x = 1/2

https://dl.doubtnut.com/l/_hJMCBzFYw1IA
https://dl.doubtnut.com/l/_qWpene5C6WQO


132. Which term of  when  numerically

greatest ?

A. 7

B. 8

C. 9

D. 11

Answer: D

Watch Video Solution

(2x − 3y)12
x = 1, y = 5/2

133. The numerically greatest term of  when 

 is

A. 

B. 

C. 

(3x + 2y)11

x = 2/3, y = 3/4

10C5 × 486

−10C5 × 486

11C5 × 486

https://dl.doubtnut.com/l/_oXFu6qyRAOcg
https://dl.doubtnut.com/l/_YeE1tfnmhvQn


D. 

Answer: C

Watch Video Solution

−11C5 × 486

134. The numerically greatest term in the expansion of  when 

 is…..

A. 4th term

B. 5th term

C. 6th term

D. 7th term

Answer: C

View Text Solution

(3 + 2x)49

x = 1/5

https://dl.doubtnut.com/l/_YeE1tfnmhvQn
https://dl.doubtnut.com/l/_2ut5xlUKIKnd


135. If the 4th term in the expansion of  has the maximum

numerical value, then the range of values of x for which this will be true is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(2 + 3x/8)10

< x < − 2
64
21

< x < 2
21

64

− < x < 2
64
21

− < x < 2
21

64

136. The integral part of  is

A. 197

B. 196

C. 175

D. 176

(√2 + 1)
6

https://dl.doubtnut.com/l/_5cthQg3IMmJr
https://dl.doubtnut.com/l/_rsGEws1RLwsz


Answer: A

Watch Video Solution

137. The positive integer which is just greater than  is

A. 3

B. 4

C. 5

D. 6

Answer: A

Watch Video Solution

(1 + 0.0001)10000

138. If  is a +ve integer, then the integral part of  is an …

integer

n (4 + √10)
n

https://dl.doubtnut.com/l/_rsGEws1RLwsz
https://dl.doubtnut.com/l/_ya6z8EICMSap
https://dl.doubtnut.com/l/_uNVOMKRKf5p6


A. odd

B. even

C. odd or even

D. none

Answer: A

View Text Solution

139. 

A. 0

B. 1

C. 

D. none

Answer: B

Watch Video Solution

=
183 + 73 + 3.18. 7. 25

36 + 6.243.2 + 15.81.4 + 20.27.8 + 15.9.16 + 6.3.32 + 64

−1

https://dl.doubtnut.com/l/_uNVOMKRKf5p6
https://dl.doubtnut.com/l/_gFNqSXCb1hGE


140. 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

(1.03)
19

=

1.2529

1.7250

1.7215

1.7535

141. 

A. 2.002

B. 2.102

C. 2.012

(1.02)
6

+ (0.98)
6

=

https://dl.doubtnut.com/l/_gFNqSXCb1hGE
https://dl.doubtnut.com/l/_GDzQta1coLuS
https://dl.doubtnut.com/l/_ijKFFC3pMYn7


D. 2.21

Answer: C

View Text Solution

142. 

A. 1360

B. 1364

C. 1373

D. 1374

Answer: B

Watch Video Solution

(2 − √5)
5

+ (2 + √5)
5

=

https://dl.doubtnut.com/l/_ijKFFC3pMYn7
https://dl.doubtnut.com/l/_nwkoQexbdgmC


143. The number of nonzero terms in the expansion of

 is

A. 9

B. 0

C. 5

D. 10

Answer: C

Watch Video Solution

(1 + 3√2x)
9

+ (1 − 3√2x)
9

144. The number of nonzero terms in the expansion of

 is

A. 100

B. 51

C. 201

(x + a)100 + (x − a)100

https://dl.doubtnut.com/l/_Ju8n7buUqYSf
https://dl.doubtnut.com/l/_bLhaaADVbYIB


D. 202

Answer: B

Watch Video Solution

145. The number of nonzero terms in the expansion of

 is

A. 20

B. 10

C. 11

D. 42

Answer: B

Watch Video Solution

(a + b√2)
20

− (a − b√2)
20

https://dl.doubtnut.com/l/_bLhaaADVbYIB
https://dl.doubtnut.com/l/_Gc0SyAEgvhh6


146. The number of nonzero terms in the expansion of

 is

A. 101

B. 50

C. 51

D. 204

Answer: C

Watch Video Solution

(x + 2√2)
101

− (x − 2√2)
101

147. The number of terms in the expansion of  is

A. 11

B. 33

C. 66

D. 132

(x + y + z)10

https://dl.doubtnut.com/l/_uqb0L94v0hIU
https://dl.doubtnut.com/l/_95nsu6ZS5R78


Answer: C

Watch Video Solution

148. The number of terms in the expansion of  is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

(x + y + z)n

n

n + 1

∑n

∑ (n + 1)

149. The number of terms in the expansion of  is

A. 20

(a + b + c + d)5

https://dl.doubtnut.com/l/_95nsu6ZS5R78
https://dl.doubtnut.com/l/_pKJ4hS3VSTM4
https://dl.doubtnut.com/l/_VyE2VpNsPzcM


EXERCISE 1B (BINOMIAL COEFFICIENTS)

B. 120

C. 336

D. 56

Answer: D

Watch Video Solution

1. 

A. 

B. 

C. 

D. 

Answer: C

nC0 +n C1 +n C2 + …. +n Cn =

nn

n !

2n

2n !

https://dl.doubtnut.com/l/_VyE2VpNsPzcM
https://dl.doubtnut.com/l/_DGY47OkCXITU


Watch Video Solution

2. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1.n C0 + 41.n C1 + 42.n C2 + 43.n C3 + …. + 4n.n Cn =

2n

3n

4n

5n

3. 

A. 

B. 

C. 

C0 + 3. C1 + 5. C2 + …...(2n + 1). Cn =

(n + 1)2n

(n + 2)2n

(n + 3)2n

https://dl.doubtnut.com/l/_DGY47OkCXITU
https://dl.doubtnut.com/l/_eEb1HxC5nOVd
https://dl.doubtnut.com/l/_EObsTu3FcTyH


D. 

Answer: A

Watch Video Solution

(n + 4)2n

4. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3. C0 + 7. C1 + 11. C2 + …... + (4n + 3). Cn =

(3n + 2)2n

(2n + 3)3n

(2n + 3)2n

(3n + 2)3n

https://dl.doubtnut.com/l/_EObsTu3FcTyH
https://dl.doubtnut.com/l/_Pr30tqJLn1FA


5. If  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(1 + x)n = C0 + C1x + C2x
2 + ….... . + Cnx

n,

C0 + 2. C1 + 3. C2 + …. + (n + 1). Cn =

2n + n2n− 1

2n− 1 + n2n

2n + (n + 1)2n

2n− 1 + (n − 1)2n

6.  terms =

A. 

B. 

C. 

D. 

C0 + 4. C1 + 7. C2 + …...(n + 1)

(3n + 2)2n

(2n + 3)3n− 1

(2n + 3)2n− 1

(3n + 2)3n− 1

https://dl.doubtnut.com/l/_nwGbMJKap28c
https://dl.doubtnut.com/l/_SSGywr5F0msB


Answer: A

Watch Video Solution

7. If  is the coe�cient of  in the expansion of  and if a,d

are real numbers then  =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ck xk (1 + x)2005

2005

∑
k= 0

(a + kd). Ck

(2a + 2005d)22004

(2a + 2005d)22005

(2a + 2004d)22005

(2a + 2004)22005

8. If n is a positive integer, then value of

 is(3n + 2)nC0 + (3n − 1)nC1 + (3n − 4)nC2 + …. + 2(nCn)

https://dl.doubtnut.com/l/_SSGywr5F0msB
https://dl.doubtnut.com/l/_grPw69CmRFe3
https://dl.doubtnut.com/l/_r6vtkg8X5paH


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(3n + 4)2(n − 1)

(3n)2n

(3n − 1)2n

(3n − 3)2n

9. 

A. 

B. 

C. 1

D. 2

Answer: D

View Text Solution

∞

∑
k= 1

k

∑
r= 0

(kCr) =
1

3k

1

3

2

3

https://dl.doubtnut.com/l/_r6vtkg8X5paH
https://dl.doubtnut.com/l/_Q7LCB2GvqV1n


View Text Solution

10. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C2 + C4 + C6 + …. . =

2n− 1 − 1

2n+ 1

2n− 1

3

2n− 1

5

11. If  are the binomial coe�cient in the expansion of 

 then `

A. 

B. 256

C0, C2, C4, …. .

(1 + x)9
C0 + C2 + C4 + C6 + C8 =

27

https://dl.doubtnut.com/l/_Q7LCB2GvqV1n
https://dl.doubtnut.com/l/_lSjrFji6S6xt
https://dl.doubtnut.com/l/_OogWO24M1Oep


C. 

D. 258

Answer: B

Watch Video Solution

29

12. 

A. 

B. 1

C. 0

D. 2

Answer: C

Watch Video Solution

nC0 −n C1 +n C2.... . ( − 1)nnCn =

−1

https://dl.doubtnut.com/l/_OogWO24M1Oep
https://dl.doubtnut.com/l/_aX9XQhONvEOP


13. 

A. 

B. 1

C. 0

D. none

Answer: C

View Text Solution

C0 − 2. C1 + 3. C2…. . + ( − 1)n(n + 1). Cn =

−1

14.  terms =

A. 0

B. 1

C. 2

D. 3

3. C0 − 5. C1 + 7. C2 − 9. C3 + …. . (n + 1)

https://dl.doubtnut.com/l/_aquZDZ65oFt5
https://dl.doubtnut.com/l/_zmv5jyJfbN5h


Answer: A

View Text Solution

15.  terms =

A. 0

B. 

C. 1

D. 2

Answer: A

View Text Solution

3.n C0 − 8.n C1 + 13.n C1 − 18,n C3 + …. . (n + 1)

−1

16. 

A. 

C0 + + + + …. . + =
C1

2

C2

22

C3

23

Cn

2n

(3/2)n

https://dl.doubtnut.com/l/_zmv5jyJfbN5h
https://dl.doubtnut.com/l/_obJMdm9wItYH
https://dl.doubtnut.com/l/_KWXkk5ZbSUXW


B. 

C. 

D. 

Answer: A

Watch Video Solution

(2/3)n

(5/3)n

(3/5)n

17. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C1 + 4. C2 + 7. C3 + ……. + (3n − 2). Cn =

(3n − 4)2n+ 1

(3n − 2)2n− 1 + 2

(3n − 4)2n

(3n − 4)22n− 1 + 1

https://dl.doubtnut.com/l/_KWXkk5ZbSUXW
https://dl.doubtnut.com/l/_heEjp8r9MezY
https://dl.doubtnut.com/l/_leuYAfbahJpw


18. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C0 + 3. C1 + 5. C2 + …...(2n + 1). Cn =

(4n − 10)2n + n + 6

(2n − 5)2n + n + 6

(2n − 5)2n− 1 + n + 6

(3n − 4)2n− 1 + 1

19. 

A. 

B. 

C. 

D. 

C1 + 2. C2 + 3. C3 + …... + n. Cn =

n. 2n

n. 2n− 1

(n + 1)2n

(n − 1).2n

https://dl.doubtnut.com/l/_leuYAfbahJpw
https://dl.doubtnut.com/l/_oW6MetXx7RkC


Answer: B

Watch Video Solution

20. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2. C2 + 6. C3 + 12. C4 + …. . + n(n − 1). Cn =

n. (n − 1). 2n− 2

n. (n + 1). 2n− 2

n. (n + 1). 2n− 5

n. (n + 1).2n+ 5

21. 

A. 

C2 + 2. C3 + 3. C4 + …. + 14. C15 =

214. 13 + 1

https://dl.doubtnut.com/l/_oW6MetXx7RkC
https://dl.doubtnut.com/l/_4Ye1gAGCVcEi
https://dl.doubtnut.com/l/_qYUpyxuqLhF5


B. 

C. 

D. none

Answer: A

View Text Solution

213. 12 + 1

211. 13 + 2

22. 

A. 0

B. 1

C. 

D. none

Answer: A

View Text Solution

k −n C1(k − 1) +n C2(k − 2) − …. . + ( − 1)nnCn(k − n) =

−1

https://dl.doubtnut.com/l/_qYUpyxuqLhF5
https://dl.doubtnut.com/l/_W4jW8LdipZeS
https://dl.doubtnut.com/l/_Yd8XmeTjtFcG


23. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ 2. + 3. + …. + n. =
C1

C0

C2

C1

C3

C2

Cn

Cn− 1

n(n + 1)

2

n(n − 1)

2

(n − 1)(n + 1)

2

n(n + 2)

2

24. 

A. 

B. 

C. 

D. 

2. + 3. + …... + n. =
C2

C1

C3

C2

Cn

Cn− 1

2

n(n − 1)

n(n − 1)

2

2n

n + 1

n + 1

2n

https://dl.doubtnut.com/l/_Yd8XmeTjtFcG
https://dl.doubtnut.com/l/_KHoQGL0mKfS5


Answer: B

Watch Video Solution

25. 

A. 110

B. 115

C. 120

D. 135

Answer: C

Watch Video Solution

(1 + x)15 = a0 + a1x + …. . + a15x
15 ⇒

15

∑
r= 1

r =
ar

ar− 1

26. Prove that : If n is a positive integer, then prove that 

C0 + + + …. + = .
C1

2

C2

3

Cn

n + 1

2n+ 1 − 1

n + 1

https://dl.doubtnut.com/l/_KHoQGL0mKfS5
https://dl.doubtnut.com/l/_L4IjrXT9gF1o
https://dl.doubtnut.com/l/_f3WJyPh7Rkn3


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2n+ 1 − 1
n + 1

2n − 1
n + 1

2n

n + 1

1

n + 1

27. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C0 − + − …... + ( − 1)
n

=
C1

2

C2

3

Cn

n + 1

2n+ 1 − 1

n + 1

2n − 1
n + 1

2n

n + 1

1

n + 1

https://dl.doubtnut.com/l/_f3WJyPh7Rkn3
https://dl.doubtnut.com/l/_lkhNddb8705u


28. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+ + + …… + =
C0

1
C2

3

C4

5

C16

17

2n+ 1 − 1

n + 1

2n − 1

n + 1

2n

n + 1

1

n + 1

29. 

A. 

B. 

C. 

C0 + + + + …. . + =
C1

2

C2

22

C3

23

Cn

2n

2n+ 1 − 1

n + 1

2n − 1
n + 1

2n

n + 1

https://dl.doubtnut.com/l/_lkhNddb8705u
https://dl.doubtnut.com/l/_jUvemC6MN9Pl
https://dl.doubtnut.com/l/_7vHVCD3edVXh


D. 

Answer: B

Watch Video Solution

1

n + 1

30. 

A. 

B. 

C. 

D. none

Answer: A

View Text Solution

C3 /4 + C5 /6 + C7 /8 + …. =

(2n+ 1 − n2 − n − 2)

2(n + 1)

(2n+ 2 + n2 + n − 2)

n + 1

(3n+ 2 − n2 − n − 2)

n + 1

31. C0 + + + …... + =
C1x

2
C2x

2

3

Cnx
n

n + 1

https://dl.doubtnut.com/l/_7vHVCD3edVXh
https://dl.doubtnut.com/l/_AqFtbiKP8xbx
https://dl.doubtnut.com/l/_VpwZLphYSR2z


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

1

(n + 1)x

(1 + x)n

(n + 1)x

(1 + x)
n+ 1

(n + 1)x

(1 + x)n+ 1 − 1

(n + 1)x

32. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2. C0 + . C1 + . C2 + …… + . C10 =
22

2
23

3
211

11

(311 + 1)

11

311 − 1

11

37 + 1
7

47 − 1
7

https://dl.doubtnut.com/l/_VpwZLphYSR2z
https://dl.doubtnut.com/l/_vS7RLpuPGuJ0


33. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

k. C0 + k2. + k3. + …. . + kn+ 1. =
C1

2
C2

3

Cn

n + 1

(k + 1)n+ 1 − 1

n + 1

(k − 1)
n+ 1

− 1

n + 1

((k − 1))
n+ 1

+ 1
)

n − 1

(k + 1)n+ 1 + 1

n − 1

34. 

A. 

B. 

C. 

2. C0 + 22 + 23. + ….... + 2n+ 1. =
C1

2

C2

3

Cn

n + 1

1

n + 1

4n

n + 1

3n+ 1 − 1

n + 1

https://dl.doubtnut.com/l/_vS7RLpuPGuJ0
https://dl.doubtnut.com/l/_8M6lSwOmCHhK
https://dl.doubtnut.com/l/_0anMCcRLX9NL


D. 

Answer: C

View Text Solution

4n+ 1 − 1
n + 1

35. 

A. 

B. 

C. 

D. none

Answer: C

View Text Solution

+ + + …... + =
C0

2

C1

3

C2

4

Cn

n + 2

n.2n + 1

(n + 1)(n + 2)

n.2n + 3
n

n.2n+ 1 + 1

(n + 1)(n + 2)

https://dl.doubtnut.com/l/_0anMCcRLX9NL
https://dl.doubtnut.com/l/_AvWfTwLLSqVW


36. The sum of  terms of the series 

 is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

(n + 1)

− + − + ….
C0

2

C1

3

C2

4

C3

5

1

n + 1

1

n + 2

1

n(n + 1)

1

(n + 1)(n + 2)

37. 

A. 

B. 

C. 

+ + + …. . + =
C0

2
C1

6

C2

12
Cn

(n + 1)(n + 2)

2n+ 2 − 1

(n + 1)(n + 2)

2n+ 2 + n + 1

(n + 1)(n + 2)

2n+ 2 − n − 3

(n + 1)(n + 2)

https://dl.doubtnut.com/l/_vwCxf4iKHvDL
https://dl.doubtnut.com/l/_710rUe1wIshe


D. 

Answer: C

View Text Solution

2n+ 1 + n + 3

(n + 1)(n + 2)

38. Show that

Hence deduce that 

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

+ + + … + =
22 ⋅ C0

1 ⋅ 2

23 ⋅ C1

2 ⋅ 3
24 ⋅ C2

3 ⋅ 4

2n+ 2 ⋅ Cn

(n + 1)(n + 2)

3n+ 2 − 2n − 5

(n + 1)(n + 2)

− + − … =
C0

1.2

C1

2.3

C2

3.4

1

n + 2

3n+ 2 − 2n − 5

(n + 1)(n + 2)

3n+ 2 + 2n + 5

(n + 1)(n + 2)

3n+ 5 − 5n + 3

(n + 1)2

https://dl.doubtnut.com/l/_710rUe1wIshe
https://dl.doubtnut.com/l/_SXQJOyQsVpyc
https://dl.doubtnut.com/l/_QqlTMWXsJi3j


39. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C0C1 + C1C2 + C2C3 + … + Cn− 1Cn =

(2n) !

(n − 1) !(n + 1) !

(2n) !

(n − 3) !(n + 1) !

(2n) !

(n − 2) !(n + 2) !

(2n) !

(n − 1) !(n + 2) !

40. If  then 

A. 

B. 

C. 

D. 

(C0 + C1)(C1 + C2)…(Cn− 1 + Cn) = kC0C1C2…Cn k =

(n + 1)
n

n !

(n + 1)

n !

(n + 2)
n

n !

(n + 2)

n !

https://dl.doubtnut.com/l/_QqlTMWXsJi3j
https://dl.doubtnut.com/l/_a5V0Pd09CyO2


Answer: A

Watch Video Solution

41. If 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ + + …. =
1

1!(n − 1) !

1

3!(n − 3) !

1

5!(n − 5) !

2n

(n + 1) !

2n− 1

n !

2n+ 1

n !

2n

(n + 2) !

42. 

A. 0

n

∑
r= 0

(nCr)
2

=

https://dl.doubtnut.com/l/_a5V0Pd09CyO2
https://dl.doubtnut.com/l/_Q124p6dJR9wz
https://dl.doubtnut.com/l/_PMM0E1bYjzAw


B. 

C. 

D. 

Answer: D

View Text Solution

n !

(2n) !

n !

(2n) !

(n !)2

43. 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

C 2
0 + 3. C 2

1 + 5. C 2
2 + …. + (2n + 1). C 2

n =

(n − 2)
(2n) !

(n !)2

(n − 1)
(2n) !

(n !)
2

(n + 2)
(2n) !

(n !)
2

(n + 1)
(2n) !

(n !)
2

https://dl.doubtnut.com/l/_PMM0E1bYjzAw
https://dl.doubtnut.com/l/_oKk6BXNxqqp6
https://dl.doubtnut.com/l/_ZhtjVa8YqrYS


44. If  denotes the binomial coe�cient  then 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

Cr
nCr

( − 1)C 2
0 + 2C 2

1 + 5C 2
2 + …. . + (3n − 1)C 2

n =

(3n − 2)2n
Cn

( )
2n

Cn

3n − 2

2

(5 + 3n)2n
Cn

( )22nCn+ 1
3n − 5

2

45. If n is odd then 

A. 0

B. 

C. 

D. 

C 2
0 − C 2

1 + C 2
2 − ….... + ( − 1)nC 2

n =

nC ( n/ 2 ) ( − 1)n/ 2

2nCn( − 1)n

( 2n+ 1 ) Cn( − 1)n

https://dl.doubtnut.com/l/_ZhtjVa8YqrYS
https://dl.doubtnut.com/l/_AG0RZuK6iWBP


Answer: A

View Text Solution

46. If n is even then 

A. 0

B. 

C. 

D. 

Answer: B

View Text Solution

C 2
0 − C 2

1 + C 2
2 − ….... + ( − 1)nC 2

n =

nC ( n/ 2 ) ( − 1)n/ 2

2nCn( − 1)n

( 2n+ 1 ) Cn( − 1)n

47. 

A. 

( 2n+ 1 ) C0 − ( 2n+ 1 ) C1 + ( 2n+ 1 ) C2 − …… + ( 2n+ 1 ) C2n =

−1

https://dl.doubtnut.com/l/_AG0RZuK6iWBP
https://dl.doubtnut.com/l/_oAuU3gRD92E7
https://dl.doubtnut.com/l/_OKygjlcEPMVn


B. 1

C. 3

D. 

Answer: B

Watch Video Solution

−2

48. Prove that 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(2nC0)
2

− (2nC1)
2

+ (2nC2) − (2nC3)
2

+ ...... + (2nC2n)
2

= ( − 1)n2nCn.

( − 1)n2nCn

( − 1)n((2n + 1))Cn

( − 1)n− 12nCn

( − 1)n− 12nCn+ 1

https://dl.doubtnut.com/l/_OKygjlcEPMVn
https://dl.doubtnut.com/l/_SGxBAPggQxVi


49. 

A. 

B. 

C. 

D. none

Answer: A

View Text Solution

C1 /1 − C2 /2 + C3 /3 − C4 /4 + … + ( − 1)n− 1
Cn /n =

1 + + + ….
1

2

1

3

1

n

1 + − − + …
1

2

1

2

1

3

1

n

1 + + + …. . +
2

3

3

4
n

n + 1

50. 

A. 0

B. 

C. 

D. none

C0 − 23. C1 + 32. C2 − …. + ( − 1)n(n + 1)2. (Cn) =

2n

2n+ 1 − 1
n + 1

https://dl.doubtnut.com/l/_SGxBAPggQxVi
https://dl.doubtnut.com/l/_WxIWNV1ogAj7
https://dl.doubtnut.com/l/_H10xbOixUPN4


Answer: A

View Text Solution

51. Use the identity  to prove

Vandermonde's theorem, 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(1 + x)m(1 + x)n = (1 + x)m+n

mCr + mCr− 1. nC1 + mCr− 2 ⋅ nC2 + …. + nCr = (m+n ) Cr

(m+n ) Cr

mnCr

(m+n ) Cr+ 1

((m + n))Cr− 1

52. C0 − C2 + C4 − C6 + ….... .

https://dl.doubtnut.com/l/_H10xbOixUPN4
https://dl.doubtnut.com/l/_Y0rkBnKl6qWO
https://dl.doubtnut.com/l/_Xn0Uc3Ev1bys


A. 

B. 

C. 

D. 0

Answer: C

View Text Solution

2n− 1

2n/ 2 sin( )
nπ

4

2n/ 2 cos( )
nπ

4

53. 

A. 

B. 

C. 

D. 0

Answer: B

View Text Solution

C1 − C3 + C5 − C7 + …...

2n− 1

2n/ 2 sin( )
nπ

4

2n/ 2 cos( )
nπ

4

https://dl.doubtnut.com/l/_Xn0Uc3Ev1bys
https://dl.doubtnut.com/l/_GWFseUNwc6YT


54. The term independent of x in  is

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

(1 + x)n(1 + )
n1

x

C 2
0 + 2. C 2

1 + 3. C 2
2 + …... + (n + 1). C 2

n

(C0 + C1 + C2 + …. . + Cn)2

C 2
0 + C 2

1 + C 2
2 + …. . + C 2

n

55. If  then  equal to

A. 

B. 

C. 

an =
n

∑
r= 0

1
nCr

n

∑
r= 0

r
nCr

n
1

2

2n − 1

2

n − 1

https://dl.doubtnut.com/l/_GWFseUNwc6YT
https://dl.doubtnut.com/l/_IpCjf0mrSXZ4
https://dl.doubtnut.com/l/_Fd8IfR1bhpc9


D. 

Answer: A

Watch Video Solution

n − 1
1

2

56. If , then 

A. 1

B. n

C. nx

D. ny

Answer: C

View Text Solution

x + y = 1
n

∑
r= 6

rnCrx
r. Y n−r =

57. If  then x + y = 1
n

∑
r= 0

r2.n Crx
r. yn−r =

https://dl.doubtnut.com/l/_Fd8IfR1bhpc9
https://dl.doubtnut.com/l/_bCYAFQgvgPfn
https://dl.doubtnut.com/l/_6UBAajDw8IvX


A. 

B. 

C. 

D. none

Answer: C

View Text Solution

nxy

nx(x + yn)

nx(nx + y)

58. the value of  is

A. 0

B. 1

C. 

D. none

Answer: B

Watch Video Solution

−2n C1. +2n C1 ….... +
1

(81)n
(10)

2

(81)n
(10)

2

(81)n
(10)

2
n

(81)n

( − 1)n

https://dl.doubtnut.com/l/_6UBAajDw8IvX
https://dl.doubtnut.com/l/_WnfQRuaxK9qH


59. There are two bags each of which contains n balls. A main has to

select and equal number of balls from both the bags. The number of ways

in which the man can choose at least one ball from each bas is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

2nCn

2nCn− 1

2nCn− 1

nCn− 1

60. The sum of the coe�cient of  is

A. 0

B. 1

(1 + 2x − 4x2)
35

https://dl.doubtnut.com/l/_WnfQRuaxK9qH
https://dl.doubtnut.com/l/_L5bo4VkszBHf
https://dl.doubtnut.com/l/_LqSQTRNQ2vUB


C. 

D. 2

Answer: C

Watch Video Solution

−1

61. The sum of the coe�cients of  where n is positive integer,

is

A. 0

B. 1

C. 

D. none

Answer: B

Watch Video Solution

(5x − 4y)n

−1

https://dl.doubtnut.com/l/_LqSQTRNQ2vUB
https://dl.doubtnut.com/l/_T4MMsvWiNHfb
https://dl.doubtnut.com/l/_f2UR1iXoG3bt


62. The sum of the coe�cients in the expansion of  is

A. 0

B. 1

C. 

D. 2

Answer: C

Watch Video Solution

(1 + x − 3x2)
171

−1

63. The sum of the coe�cients of even powers of x in the expansion of

 is

A. 

B. 

C. 

D. none

(1 + x + x2)
15

315 + 1
2

215 + 2
2

315 − 1
2

https://dl.doubtnut.com/l/_f2UR1iXoG3bt
https://dl.doubtnut.com/l/_HD3hOwCayWMR


Answer: A

Watch Video Solution

64. The sum of the coe�cients of even powers of x in the expansion of

 is

A. 510

B. 512

C. 521

D. 522

Answer: B

View Text Solution

(1 + x + x2 + x3)
5

65. The sum of the coe�cients of odd powers of x in the expansion of

 is(1 + x − x2 + x3)
5

https://dl.doubtnut.com/l/_HD3hOwCayWMR
https://dl.doubtnut.com/l/_w2MiHPgT6g2j
https://dl.doubtnut.com/l/_pDVU0AhAayUH


A. 510

B. 512

C. 521

D. 522

Answer: B

View Text Solution

66. The sum of coe�cients of odd powers of x in the expansion of

 is

A. 0

B. 32

C. 64

D. 

Answer: A

(1 + x − x2 − x3)
6

−1

https://dl.doubtnut.com/l/_pDVU0AhAayUH
https://dl.doubtnut.com/l/_Hnt0bsJtXgJ9


Watch Video Solution

67. The sum of coe�cients of integral powers of x in the binomial

expansion of  is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(1 − 2√x)
50

(350 + 1)
1

2

(3350)
1

2

(350 − 1)
1

2

(250 + 1)
1

2

68. Sum of the last 30 coe�cients in the expansion of , when

expanded in ascending powers of x, is

A. 

(1 + x)59

259

https://dl.doubtnut.com/l/_Hnt0bsJtXgJ9
https://dl.doubtnut.com/l/_6TwEzSJX3ScU
https://dl.doubtnut.com/l/_Gr04EJnuFA4h


B. 

C. 

D. 

Answer: D

Watch Video Solution

218

40C20 − 219

258

69. If the sum of the coe�cients of  is 4096 , then the greatest

coe�cients is

A. 924

B. 726

C. 845

D. 694

Answer: A

Watch Video Solution

(x + y)n

https://dl.doubtnut.com/l/_Gr04EJnuFA4h
https://dl.doubtnut.com/l/_Y0WA4U2IRemg


70. If the sum of the coe�cients of  is 6561 then the value of n

A. 8

B. 16

C. 3

D. 18

Answer: A

Watch Video Solution

(1 + 2x)n

71. If the sum of the coe�cients in the expansion of  is

a and if the sum of the coe�cients in the expansion of  is b,

then

A. 

B. 

(1 − 3x + 10x2)
n

(1 + x2)
n

a = 3b

a = b3

https://dl.doubtnut.com/l/_Y0WA4U2IRemg
https://dl.doubtnut.com/l/_ZGkaT6AYFFNM
https://dl.doubtnut.com/l/_Op22wGORI7lz


C. 

D. none of these

Answer: B

Watch Video Solution

b = a2

72. If  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(1 − x + x2)
n

= a0 + a1x + a2x
2 + …. + a2nx

2n

a0 + a2 + a4 + ……. + a2n =

3n + 1
2

3n − 1
2

3n+ 1

2

2n− 1

2

https://dl.doubtnut.com/l/_Op22wGORI7lz
https://dl.doubtnut.com/l/_UvSZu5kfjsWs
https://dl.doubtnut.com/l/_Pxq4aR3DZ0bA


73. If , then prove

that 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1 + x + x2)
n

= a0 + a1x + a2x
2 + …. + a2nx

2n

a1 + a3 + a5 + …. + a2n− 1 =
3n − 1

2

3n + 1
2

3n − 1
2

3n+ 1

2

2n− 1

2

74. If  then 

A. 

B. 

C. 

(1 + 2x + x2)
n

=
2n

∑
r= 0

a, x' ar =

(nCr)
2

nCr.
n Cr− 1

2nCr

https://dl.doubtnut.com/l/_Pxq4aR3DZ0bA
https://dl.doubtnut.com/l/_8aVdbwhhJUE9


D. 

Answer: C

View Text Solution

2nCr+ 1

75. If  then  =

A. 10.5

B. 21

C. 10

D. 5.5

Answer: A

Watch Video Solution

(1 + 2x + 3x2)
10

= a0 + a1x + a2x
2 + …… + a20x

20 a2

a1

https://dl.doubtnut.com/l/_8aVdbwhhJUE9
https://dl.doubtnut.com/l/_l22zTb2RNpOc


76. If  then 

 =

A. 30

B. 31

C. 33

D. 35

Answer: B

Watch Video Solution

(1 + x − 2x2)
8

= 1 − a1x + a2x
2 + …… + a16x

16,

a2 + a4 + a6 + …… + a16

77. If  then 

A. 128

B. 256

C. 512

(1 + x + x2 + x3)
5

=
15

∑
k= 0

akx
k

7

∑
k= 0

a24 =

https://dl.doubtnut.com/l/_7Y3jRNVmpeBb
https://dl.doubtnut.com/l/_kuD1dUhXzoVM


D. 1024

Answer: C

View Text Solution

78. If  is the coe�cient of  in the expansion of  for k =

0,1,2,……….,2n then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ak xk (1 + x + x2)
n

a1 + 2a2 + 3a3 + ……… + 2n. a2n =

−a0

3n

n.3n

−n.3n

https://dl.doubtnut.com/l/_kuD1dUhXzoVM
https://dl.doubtnut.com/l/_CQdQc3QKboKf


79. If  prove the 

A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

(3 + 7x − 9x2)
n

= a0 + a1x + a2x
2 + …… + a2nx

2n

a0 + a1 + a2 + …… + a2n = 1

an

−an

an− 1

80. If  then 

A. 0

B. 1

C. n

(1 + x + x2)
n

=
2n

∑
r= 0

arx'

a1 − 2a2 + 3a3 − …. . − 2na2n = …....

https://dl.doubtnut.com/l/_thqsMq89rJNw
https://dl.doubtnut.com/l/_nq2w8GsxZaGD


D. 

Answer: D

View Text Solution

−n

81. If  is the coe�cient of  in the expansion of  then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ar xr (1 − 2x + 3x2)
n

2n

∑
r= 0

rar =

n.2n

n.2n+ 1

(n + 1).2n

(n + 1).2(n + 1)

https://dl.doubtnut.com/l/_nq2w8GsxZaGD
https://dl.doubtnut.com/l/_3NlSR7dOddco


82. If the sum of the coe�cient in the expansion of 

vanishes then 

A. 2

B. 

C. 1

D. 

Answer: C

Watch Video Solution

(p2x2 − 2px + 1)
51

p =

−1

−2

83. If the number of terms in the expansion of 

is 28, then the sum of the coe�cients of all the terms in this expansion, is

A. 64

B. 2187

C. 243

(1 − + )
n

, x ≠ 0
2

x

4

x2

https://dl.doubtnut.com/l/_pOw1Rwa65lvL
https://dl.doubtnut.com/l/_DEGKkIHdlyFb


EXERCISE 1C (BINOMIAL THEOREM WITH RATIONAL INDEX)

D. 729

Answer: D

Watch Video Solution

1. The range of x for which the expansion of  is valid

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

(4 + 5x) − 7 / 2

(3/5, 4/5)

( − 4/5, 4/5)

( − 4/5, − 2/5)

https://dl.doubtnut.com/l/_DEGKkIHdlyFb
https://dl.doubtnut.com/l/_o4EnWV3uncgk
https://dl.doubtnut.com/l/_Rq3nOmT75ZiO


2. The range of x for which the expansion of  is valid

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(1 − 4x2)
− 9 / 4

( − , )
1

2

1

2

(0, )
1

2

( , )
1

2

3

2

( − , − )
3

2

1

2

3. The 4th term of  when  is

Watch Video Solution

(1 − 2x)12
x = 1/3

4. The �fth term of  is

A. 

(1 − 2x/3)3 / 4

−
5x4

1152

https://dl.doubtnut.com/l/_Rq3nOmT75ZiO
https://dl.doubtnut.com/l/_BTHLwriK5yIw
https://dl.doubtnut.com/l/_OeNu0CID5vXH


B. 

C. 

D. 

Answer: A

View Text Solution

5x4

1152

5x4

1052

5x4

1052

5. The general term of  is

A. 

B. 

C. 

D. none

Answer: A

View Text Solution

(1 + 2x)1 / 2

1.3.5…. (2r − 3)( − 1)
r− 1

xr

r !

1.3.5…(2r − 1)( − 1)r− 1
xr

r !

1.3.5…(2r − 5)( − 1)
r− 1

xr

r !

https://dl.doubtnut.com/l/_OeNu0CID5vXH
https://dl.doubtnut.com/l/_1cV3SYByqv21
https://dl.doubtnut.com/l/_CoG6EODXwN3V


6. The general term of  is

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

(4 − 3x)
3 / 2

24( )
r1.3.5…(2r − 5)

r !

3x

8

26( )
r1.3.5…(2r − 5)

r !

−3x

8

28( )
r1.3.5…(2r − 5)

r !

−3x

8

7. The general term of  is

A. 

B. 

C. 

D. none

(2a − 3b)
1 / 2

( )'
1.3.5…. . (2r − 5)

r !

1

√2a

3b

4a

( )'
1.3.5…(2r − 3)

r !

1

√2a

3b

4a

( )'
1.3.5…(2r − 1)

r !

1

√2a

3b

4a

https://dl.doubtnut.com/l/_CoG6EODXwN3V
https://dl.doubtnut.com/l/_kgx2V1oWc22m


Answer: C

View Text Solution

8. The coe�cient of  in  is

A. 2

B. 4

C. 6

D. 8

Answer: D

View Text Solution

x7 (1 − 2x + 3x2 − 4x2 + …. ∞)
− 4

9. The coe�cient of  in  is

A. 25

x24 (1 + 3x + 6x2 + 10x3 + ……∞)
2 / 3

https://dl.doubtnut.com/l/_kgx2V1oWc22m
https://dl.doubtnut.com/l/_hPQKDW2KUWAT
https://dl.doubtnut.com/l/_XkI6p1x6kxTj


B. 125

C. 50

D. 300

Answer: A

Watch Video Solution

10. The coe�cient of  in is

A. 0

B. 1

C. 3

D. 3

Answer: A

View Text Solution

x7 (1 + 2x + 3x2 + 4x4 + ….... ∞)
− 3

https://dl.doubtnut.com/l/_XkI6p1x6kxTj
https://dl.doubtnut.com/l/_BlUJLgYYFWXI
https://dl.doubtnut.com/l/_cTLBk3rkLOGu


11. The coe�cient of  in  is

A. 456

B. 365

C. 256

D. 425

Answer: A

View Text Solution

x6 (1 + x + x2 + x3 + x4 + x5)
6

12. The coe�cient of  in the expression 

 is

A. 0

B. 1

C. 

D. 2

x4

(1 + 2x + 3x2 + 4x3 + …. )
1 / 2

−1

https://dl.doubtnut.com/l/_cTLBk3rkLOGu
https://dl.doubtnut.com/l/_DCOyoZ3kfwOX


Answer: B

View Text Solution

13. The coe�cient of  in the expansion of 

 is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

x5

(1 + x)21 + (1 + x)22 + …. + (1 + x)30

51C5

9C5

31C6 −21 C6

30C5 +20 C5

14. The coe�cient of  in the expansion of xr(0 ≤ r ≤ n − 1)

(x + 3)n− 1 + (x + 3)n− 2(x + 2) + (x + 3)n− 2(x + 2)2 + …. + (x + 2)n

https://dl.doubtnut.com/l/_DCOyoZ3kfwOX
https://dl.doubtnut.com/l/_UkPPe6AEnAPx
https://dl.doubtnut.com/l/_ekX9fW3AuZow


is

A. 

B. 

C. 

D. none

Answer: B

View Text Solution

nCr(3r − 2n)

nCr(3n−r − 2n−r)

nCr(3r + 2n−r)

15. Coe�cient of  in 

 is

A. 

B. 

C. 

D. 

x50

(1 + x)1000 + 2x(1 + x)999 + 3x2(1 + x)999 + …... + 1001x1000

1001C50

1000C50

1002C50

1002C51

https://dl.doubtnut.com/l/_ekX9fW3AuZow
https://dl.doubtnut.com/l/_wZHjPkkWOGFM


Answer: C

View Text Solution

16. The coe�cient of  in the expansion of 

 is

A. 

B. 

C. 

D. none of these

Answer: C

View Text Solution

xk

E = 1 + (1 + x) + (1 + x)2 + …. + (1 + x)n

nCk

n+ 1Ck

n+ 1Ck+ 1

17. The coe�cient of  in  isx2 (1 + x)2(8 − x) − 1 / 3

https://dl.doubtnut.com/l/_wZHjPkkWOGFM
https://dl.doubtnut.com/l/_by96VEMCjtVm
https://dl.doubtnut.com/l/_ycFRCIsmuOkr


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

2167
4032

2265

4132

313

576

2617
4302

18. The coe�cient of  in the expansion of  is

A. 1

B. 2

C. 3

D. 4

Answer: D

View Text Solution

x4 (1 − 3x)
2

(1 − 2x)

https://dl.doubtnut.com/l/_ycFRCIsmuOkr
https://dl.doubtnut.com/l/_yUbfPjhwoQlA


19. The coe�. Of  in  is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

x2 1 + x2

(1 − x)3

2r(9r2 + 15r + 8)

2r− 2(r2 + 9r + 15)

2r− 3(9r2 + 15r + 8)

20. The coe�cient of  in  is

A. 1

B. 2

C. 4

x10 1 − 2x + 3x2

1 − x

https://dl.doubtnut.com/l/_yUbfPjhwoQlA
https://dl.doubtnut.com/l/_DPi4I2JxMI25
https://dl.doubtnut.com/l/_pnfnx9cvrBZd


D. 

Answer: B

Watch Video Solution

−2

21. The coe�. Of  in  is

A. 3

B. 4

C. 7

D. 12

Answer: C

Watch Video Solution

x2 1 + x2

(1 − x)
3

22. The coe�cient of  in  isxn
(1 + x)

2

(1 − x)
2

https://dl.doubtnut.com/l/_pnfnx9cvrBZd
https://dl.doubtnut.com/l/_FkEU4oioSsK0
https://dl.doubtnut.com/l/_Ohw9FoZ8kuPy


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

3n2

2n + 1

3n − 1

4n

23. Find the coe�cient of  in the expansion of .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x10 1 + 2x

(1 − 2x)2

r. 2r

(2r − 1)2r

r. 22r+ 1

(2r + 1)2r

https://dl.doubtnut.com/l/_Ohw9FoZ8kuPy
https://dl.doubtnut.com/l/_Tr9XtqqVX8Wg


24. The coe�cient of  in  where  is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

xn
(1 + x)n

1 − x
n ∈ N

n

2n

3n

4n

25. If , the �rst negative term in the expansion of 

is

A. 5th term

B. 8th term

0 < x < 1 (1 + x)27 / 5

https://dl.doubtnut.com/l/_Tr9XtqqVX8Wg
https://dl.doubtnut.com/l/_9TINKnfRp9cy
https://dl.doubtnut.com/l/_rJUgaZ2Mp4vr


C. 6th term

D. 7th term

Answer: B

Watch Video Solution

26. If  is so small that  and higher powers of x may be neglected then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x x2

(1 − 3x)1 / 2(1 + x)2 / 3

(1 − x)
1 / 2

1 −
x

3

1 −
x

5

1 −
x

4

1 −
x

2

https://dl.doubtnut.com/l/_rJUgaZ2Mp4vr
https://dl.doubtnut.com/l/_uUoTxfiNovde
https://dl.doubtnut.com/l/_EUa7047XzJeW


27. If x is numerically so small so that  and higher powers of x can be

neglected , then  is approximately equal to :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2

(1 + ) , (32 + 5x) −2x

3

3
2 1

5

32 + 31x

64

31 + 32x

64

31 + 32x

64

1 − 2x

64

28. If x is so small that  and higher powers of x may be neglected then 

A. 

B. 

x2

=
(1 + 2x/3)

− 4
(4 + 5x)

1 / 2

(9 + x)3 / 2

(1 − )
2

27

55x

12

(1 − )
2

27

55x

24

https://dl.doubtnut.com/l/_EUa7047XzJeW
https://dl.doubtnut.com/l/_OEPOu0v3s1ls


C. 

D. 

Answer: D

View Text Solution

(1 − )
2

27

53x

12

(1 − )
2

27

53x

24

29. If |x| is so small that  and higher powers of x may be neglected, then

an approximately value of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2

(1 + x)
− 3

(1 − 15x) − 1 / 52
3

(2 − 3x)4

(1 + 7x)
1

8

(1 − 7x)
1

16

(1 − 7x)

(1 + 7x)
1

16

https://dl.doubtnut.com/l/_OEPOu0v3s1ls
https://dl.doubtnut.com/l/_vdzPM2fDfaBa


30. If x is small so that  and higher powers can be neglected, then the

approximately value for  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2

(1 − 2x)
− 1

(1 − 3x)
− 2

(1 − 4x)
− 3

1 − 2x

1 − 3x

1 − 4x

1 − 5x

31. The coe�cients of  in  is

A. 

B. 

C. 

x3
(1 − 4x)

2(1 − 2x2)
1 / 2

(4 − x)
3 / 2

13027
8192

13207
8291

13720
8921

https://dl.doubtnut.com/l/_8n9fuRCA5Dqq
https://dl.doubtnut.com/l/_mFfX7rPMCMQ3


D. none

Answer: A

Watch Video Solution

32. If x is so small, higher powers of x may be neglected then

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

√x2 + 25 − √x2 + 9 =

2 −
x2

15

3 +
x2

15

3 −
x2

15

2 +
x2

15

https://dl.doubtnut.com/l/_mFfX7rPMCMQ3
https://dl.doubtnut.com/l/_tAK4BxMSxcll


33. If x is so small, higher powers of x may be neglected then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3√x2 + 27 − 3√x2 + 8 =

2 −
5x2

24

1 +
5x2

108

1 −
5x2

108

2 +
5x2

24

34. If a is small in comparison with x, then

A. 

B. 

C. 

( )
1 / 2

+ ( )
1 / 2

=
x

x + a

x

x − a

1 +
2a2

3x2

2 +
3a2

4x2

3 +
4a2

5x2

https://dl.doubtnut.com/l/_jj999NYmETl5
https://dl.doubtnut.com/l/_PXjEhj7FmF5g


D. 

Answer: B

Watch Video Solution

1 −
2a2

3x2

35. If a is small in comparison with x, then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( )
1 / 3

− ( )
1 / 3

=
x

x + a

x

x − a

−
−2a

3x
28a3

81x3

−
2a

3x
28a3

81x3

+
−2a

3x
28a3

81x3

+
2a

3x
28a3

81x3

https://dl.doubtnut.com/l/_PXjEhj7FmF5g
https://dl.doubtnut.com/l/_cpfOnZBIGDBl


36. If  where 

then 

A. 2

B. 4

C. 1

D. 3

Answer: C

Watch Video Solution

√[ ] = a0 + + + ….... .
x

x − 1
a1

x − 1
a2

(x − 1)
2

x > 2

16a3 =

37. If  then the ordered pair 

A. 

B. 

C. 

(a + bx)
− 3

= + x + …. .
1

27

1

3
(a, b) =

(1, )
1

3

(3, 9)

(3, − 9)

https://dl.doubtnut.com/l/_CdaKyUS1leVY
https://dl.doubtnut.com/l/_O6aAKbSEqzz6


D. 

Answer: C

Watch Video Solution

(3, − 27)

38. If p and q are the coe�cients of  in 

, then

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

xn

(1 + x)2n and (1 − 4x) − 1 / 2, |x| <
1

4

p = q

p = 2q

q = 2p

p + q =2n Cn

https://dl.doubtnut.com/l/_O6aAKbSEqzz6
https://dl.doubtnut.com/l/_tK6WXQOqYphC


39. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(8.8)1 / 3 =

2 +
29

900

2 −
29

900

2 +
58

900

2 −
58

900

40. 

A. 

B. 

C. 

D. 

3√1003 − 3√997 =

0.01

0.02

0.03

0.04

https://dl.doubtnut.com/l/_V5XVXULUzcfB
https://dl.doubtnut.com/l/_e9qYWYrxw1Dn


Answer: B

View Text Solution

41. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1 + + + + …... =
1

4

1.3

4.8

1.3.5

4.8.12

√2

1/√2

√3

1/√3

42. 

A. 

1 + + + + + …. . =
2

4

2.5

4.8

2.5.8

4.8.12

2.5.8.11

4.8.12.16

4− 2 / 3

https://dl.doubtnut.com/l/_e9qYWYrxw1Dn
https://dl.doubtnut.com/l/_PaUw6wqEfWJI
https://dl.doubtnut.com/l/_MPSKzRV717VI


B. 

C. 

D. 

Answer: B

Watch Video Solution

√16

√4

43 / 2

43. 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

1 + + + + ….... . =
2

6

2.5

6.12

2.5.8

6.12.18

3√3

3√4

3√5

3√6

https://dl.doubtnut.com/l/_MPSKzRV717VI
https://dl.doubtnut.com/l/_dW1K40X025gX
https://dl.doubtnut.com/l/_EwJ0Vs9I8oW8


44. Find the sum of the in�nite series 

A. 

B. 

C. 2

D. none

Answer: B

Watch Video Solution

+ + + ....
3

4

3.5

4.8

3.5.7

4.8.12

√2

2√2

45. 

A. 

B. 

C. 

D. 

1 + . + . + . + …...∞ =
1

2

3

5

1.3

2.4

9

25

1.3.5

2.4.6

27

125

√5/2

√2/5

√3/5

√5/3

https://dl.doubtnut.com/l/_EwJ0Vs9I8oW8
https://dl.doubtnut.com/l/_uAYNu71nqatu


Answer: A

Watch Video Solution

46. The sum of the series  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1 + ( ) + ( )
3

+ …
2

3

1

8

2 × 5 × 8

3 × 6 × 9

1

8

4

√49
√49

4

4

√81
3√81

4

47. 

A. 

1 + + + + … =
k

3

k(k + 1)

3.6

k(k + 1)(k + 2)

3.6.9

(2/3)k

https://dl.doubtnut.com/l/_uAYNu71nqatu
https://dl.doubtnut.com/l/_6ulVnFeI1mmU
https://dl.doubtnut.com/l/_KKY24IbqG0SJ


B. 

C. 

D. 

Answer: B

Watch Video Solution

(3/2)k

2/3

3/2

48. Find the sum of the in�nite series 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1 + + . + . + .... )
7
5

1

102

1.3

1.2

1

104

1.3.5

1.2.3

1

106

3√2

√2

3√3

3√4

https://dl.doubtnut.com/l/_KKY24IbqG0SJ
https://dl.doubtnut.com/l/_Aa0wAwalYFi7


49. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1 − + − + …. . =
1

4

1.3

4.8

1.3.5

4.8.12

√2/3

√2/3

2/3

√3/2

50. 

A. 

B. 

C. 

D. 

1 − + − + …. . =
1

5

1.4

5.10

1.5.7

5.10.15

√3/8

3√5/8

3√7/8

3√9/8

https://dl.doubtnut.com/l/_Aa0wAwalYFi7
https://dl.doubtnut.com/l/_UzUbxGY826JQ
https://dl.doubtnut.com/l/_4Uuun14ek88n


Answer: B

Watch Video Solution

51. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1 − + − + …. . =
1

8

1.3

8.16

1.3.5

8.16.24

√5

1/√5

2/√5

√5/2

52. 

A. 

1 − + − + …. =
3

4

3.5

4.8

3.5.7

4.8.12

√8/27

https://dl.doubtnut.com/l/_4Uuun14ek88n
https://dl.doubtnut.com/l/_7kSVchrWEIcM
https://dl.doubtnut.com/l/_NqD104Y2iPyw


B. 

C. 

D. none

Answer: A

Watch Video Solution

√9/32

√7/31

53. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1 − + ( )
2

− ( )
3

+ …. . =
3

16

1.4
1.2

3

16

1.4.7

1.2.3

3

16

(4/5)
2 / 3

(5/3)
3 / 2

(7/2)
1 / 2

(7/2)
2 / 3

https://dl.doubtnut.com/l/_NqD104Y2iPyw
https://dl.doubtnut.com/l/_NNxdNb2lon5z


54. If , then 

A. 0

B. 1

C. 2

D. 

Answer: A

Watch Video Solution

x = + + + ….
1

3

1.3

3.6

1.3.5

3.6.9
x2 + 2x − 2 =

−1

55. If  then �nd 

A. 1

B. 2

C. 3

D. 4

x = + + + …. ∞
1

5

1.3

5.10

1.3.5

5.10.15
3x2 + 6x.

https://dl.doubtnut.com/l/_L0xyS8Sa5fJU
https://dl.doubtnut.com/l/_6ydy3tEi0wzb


Answer: B

Watch Video Solution

56. 

A. 0.4 (nearly)

B. 0.3 (nearly)

C. 

D. 

Answer: A

Watch Video Solution

+ + + … =
1.3

3.6

1.3.5

3.6.9
1.3.5.7
3.6.9.12

√3

√3 − 1

57. 

A. 

− + + …. =
1.4

5.10

1.4.7

5.10.15

1.4.7.10

5.10.15.20

−
√5

2
4

5

https://dl.doubtnut.com/l/_6ydy3tEi0wzb
https://dl.doubtnut.com/l/_dbu3HfAdwm3f
https://dl.doubtnut.com/l/_Hk6ncazEj6zc


B. 

C. 

D. 

Answer: A

Watch Video Solution

−
√5

2

5

4

−
√5

3

5

4

−
√5

3
4
5

58. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ + + …. =
3

4.8

3.5

4.8.12

3.5.7

4.8.12.16

4√2 − 5

4

6√2 − 5

4

2√2 − 5

4

3√2 − 5

4

https://dl.doubtnut.com/l/_Hk6ncazEj6zc
https://dl.doubtnut.com/l/_B5X9jcoLCLWT
https://dl.doubtnut.com/l/_m3F2JvnZ4R4g


59. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ + + ….... =
5

6.12

5.8

6.12.18

5.8.11

6.12.18.24

3√4 − 4
6

3 3√5 − 4

6

3 3√6 − 4

6

3 3√7 − 4
6

60. 

A. 

B. 

C. 

D. 

+ + − ….... =
5

3.6

5.7

3.6.9

5.7.9

3.6.9.12

3√3 − 2

3

3√3 − 5

3

3√3 − 5

3

3√3 − 1

3

https://dl.doubtnut.com/l/_m3F2JvnZ4R4g
https://dl.doubtnut.com/l/_8tA1LHJSkv6G


Answer: A

Watch Video Solution

61. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

− + − ….... =
1

4

5

4.8

5.7

4.8.12

3√3 − 2√5

9√3

3√3 − 3√2

9√3

3√3 − 2√3

9√3

3√3 − 2√2

3

62. 

A. 

+ + + …. =
3

4.8

3.5

4.8.12

3.5.7

4.8.12.16

−
√3

2

3

4

https://dl.doubtnut.com/l/_8tA1LHJSkv6G
https://dl.doubtnut.com/l/_yOrYTXJgzYpd
https://dl.doubtnut.com/l/_0fCkgsxXbQvp


B. 

C. 

D. 

Answer: B

Watch Video Solution

−
√2

3

3

4

−
√3

2

1

4

−
√2

3

1

4

63. If   

then �nd the value of 

A. 21

B. 23

C. 25

D. 27

Answer: B

Watch Video Solution

x = + + + ….
5

(2!).3

5.7

(3!).32

5.7.9

(4!).33

x2 + 4x.

https://dl.doubtnut.com/l/_0fCkgsxXbQvp
https://dl.doubtnut.com/l/_m11ZvRbuHoFJ


64. If x=

"then"x^(4)` equals

A. 81

B. 54

C. 27

D. 8

Answer: C

Watch Video Solution

1 + × + ( )
2

+ ( )
3

+ ....
3

1!

1

6

3 × 7

2!

1

6

3 × 7 × 11

3!

1

6

65. 

A. 

B. 

C. 

1 + + + + ….... =
n

2

n(n − 1)

2.4

n(n − 1)(n − 2)

2.4.6

1 + + + + ….
n

3

n(n + 1)

3.6

n(n + 1)(n + 2)

3.6.9

1 + + + + …. .
n

3

n(n + 2)

3.6

n(n + 1)(n + 1)

3.6.9

1 + + + + …. .
n

3

n(n + 1)

3.6

n(n + 1)(n + 2)

3.6.9

https://dl.doubtnut.com/l/_m11ZvRbuHoFJ
https://dl.doubtnut.com/l/_WvFlHJjH1hSI
https://dl.doubtnut.com/l/_7Y7IhFdg44hu


D. 

Answer: C

Watch Video Solution

1 + + + + …....
n

3

n(n + 2)

3.6

n(n + 1)(n + 2)

3.6.9

66. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1 + n. + ( )
2

+ …. .
2n

1 + n

n(n + 1)

1.2
2n

1 + n

1 + n + ( )
2

+ …...
2n

1 − n

n(n − 2)

1.2

2n

1 − n

1 + n. + ( )
2

+ …...
2n

1 − n

n(n − 1)

1.2

2n

1 − n

1 + n. + ( )
3

+ …....
2n

1 − n

n(n − 1)

1.2

2n

1 − n

1 + n. + ( )
3

+ …...
2n

1 − n

n(n − 2)

1.2

2n

1 − n

https://dl.doubtnut.com/l/_7Y7IhFdg44hu
https://dl.doubtnut.com/l/_oX1WKwbzT6pu


67. If  then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

|x| < 1

1 + n( ) + ( )
2

+ ….... . ∞ =
2x

1 + x

n(n + 1)

2!

2x

1 = x

( )
n

2x

1 + x

)

n
(1 + x)n

2x

( )
n

1 − x

1 + x

( )
n

1 − x

1 + x

68. If  then x I terms of y is

A. 

B. 

C. 

y = 2x + 3x2 + 4x3 + …,

y − y2 + y3…. .
1

2

1.3

2.4

1.3.5

2.4.6

y + y2 + y2…...
1

2

1.3

2.4

1.3.5

2.4.6

y − y2 − y3…. .
1

2

1.3

2.4

1.3.5

2.4.6

https://dl.doubtnut.com/l/_I4hY5jkKu3Cr
https://dl.doubtnut.com/l/_GRzIsdccMgTP


EXERCISE 2 (SPECIAL TYPE QUESTIONS) SET - 1

D. 

Answer: A

Watch Video Solution

y + y2 + y3…. .
1

2

1.3

2.4

1.3.5

2.4.6

1. I : The coe�cient of  in  is 60.  

II : The coe�cient of  in  is .

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II true

Answer: C

View Text Solution

x2 (√x
3 + 2/x)

6

x− 6 (x4 − 1/x2)
15

−1365

https://dl.doubtnut.com/l/_GRzIsdccMgTP
https://dl.doubtnut.com/l/_3RAlanuTIEkg


2. If  where I and n are +ve integers and F is +ve

proper fraction, then 

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II true

Answer: A

Watch Video Solution

(7 + 4√3)
n

= I + F

(I + F )(1 − F ) =

3. I :   

II : 

A. only I is true

B. only II is true

+ 2 + 3. + …... + n. =
C1

C2

C2

C1

C3

C2

Cn

Cn− 1

n(n + 1)

2

C0 + + + …. + =
C1

2

C2

3

Cn

n + 1
2n+ 1 − 1
n + 1

https://dl.doubtnut.com/l/_OndZWMRMMiI0
https://dl.doubtnut.com/l/_34WDUiHtfCmX


C. both I and II are true

D. neither I nor II true

Answer: C

View Text Solution

4. I : The coe�cient of  in  is 25.  

II : The coe�cient of  in  is 3

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II true

Answer: A

View Text Solution

x24 (1 + 3x + 6x2 + 10x3 + .... ∞)
2 / 3

x7 (1 + 2x + 3x2 + 4x2 + …. . ∞)
− 3

https://dl.doubtnut.com/l/_34WDUiHtfCmX
https://dl.doubtnut.com/l/_4KrW8ftlpIxd


EXERCISE 2 (SPECIAL TYPE QUESTIONS) SET - 2

1. If ath term is independent of x in , bth term is

independent of x in  and cth term is independent of

x in  then , the ascending order of `a, b, c is

A. a, b, c

B. b, c, a

C. c, a, b

D. a, c, b

Answer: D

View Text Solution

(√x/7 − √5/x2)
10

(7x− 1 / 3 − 3x1 / 2)
25

(3x2 /7 + 21/4x)
9

2. If ath , bth , cth terms are the middle terms in the expansion of

 then the ascending order

of `a, b, c is

(x + 1/x)10, (a/x − x/a)12, (x2 − 1/x2)
8

https://dl.doubtnut.com/l/_PmzYigSJC4Mg
https://dl.doubtnut.com/l/_HVSlrgdqAfCL


A. a, b, c

B. b, c, a

C. c, a, b

D. a, c, b

Answer: C

View Text Solution

3. The binomial coe�cients which are in decreasing order are

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

15C5,15 C6,15 C7

15C10,15 C9,15 C5

15C6,15 C7,15 C8

15C7,15 C6,15 C5

https://dl.doubtnut.com/l/_HVSlrgdqAfCL
https://dl.doubtnut.com/l/_xTMJ5OJuCOqy


EXERCISE 2 (SPECIAL TYPE QUESTIONS) SET - 3

1. Match the following. 

A. a, b, c

B. b, c, a

C. c, a, b

D. c, b, a

Answer: D

View Text Solution

I. The coefficient ofx− 4in(2x − 3/x)
8
is a)17

C1057

II. The coefficient ofx7in(3x2 /7 + 4/5x3)
11

is b)11
C3(3/7)5(4/5)3

III. The coefficient ofxin(5x3 − 1/x2)
17

is c)8
C62236

https://dl.doubtnut.com/l/_xTMJ5OJuCOqy
https://dl.doubtnut.com/l/_x1oOD8eK5Pps


2. Match the following. 

A. a, b, c, d

B. d, c, b, a

C. a, c, d, b

D. d, a, b, c

Answer: A

View Text Solution

I.C0 + 3. C1 + 5. C2 + …...(2n + 1). Cn = a)(n

II.3. C0 + 7. C1 + 11. C2 + …. + (4n + 3). Cn = b)(2n

III.C0 + 4. C1 + 7. C2 + …. (n + 1)terms = c)(2n

IV.(3n + 2)nC0 + (3n − 1)nC1 + (3n − 4)nC2 + ....... + (nCn) = d)(3n

3. Match the following. 

I.1 + + + + ….... = a)√2

II.1 + + + = b)2√2

III.1 + + + + …... = c)√3

IV.1 + + + + ....... . = d) 3√4

1
3

1.3
3.6

1.3.5
3.6.9

1
4

1.3
4.8

1.3 .5
4.8.12

2
6

2.5
6.12

2.5.8
6.12.18

3
4

3.5

4.8
3.5.7

4.8.12

https://dl.doubtnut.com/l/_BoKsAFT9Ik8d
https://dl.doubtnut.com/l/_hgwzmGUeGdUD


A. a, b, c, d

B. d, c, b, a

C. a, c, d, b

D. c, a, d, c

Answer: D

View Text Solution

4. The correct matching of List I from List II is 

A. 

B. 

List I List II

A)(1 − x)
−n

i)x/(x + 1)

B)(1 + x)
−n

ii)1 − nx + x2 − .

C) if x > 1then1 + + + ...is iii)1 + nx + x2 +

D) if |x| > 1,then1 − + − + .... is iv)

v)x4 /(x2 + 1)
2

vi)x4 /(x2 − 1)
2

n ( n+ 1 )

2 !

1
x

1

x2

n ( n+ 1 )

2 !

2
x2

3

x4

4
x6

x

x− 1

A B C D

i iii iv v

A B C D

ii iii iv v

https://dl.doubtnut.com/l/_hgwzmGUeGdUD
https://dl.doubtnut.com/l/_iUV6qyBE5bo0


EXERCISE 2 (SPECIAL TYPE QUESTIONS) SET - 4

C. 

D. 

Answer: C

View Text Solution

A B C D

iii ii iv v

A B C D

ii iii i v

1. A : If the coe�cients of 5th, 6th , 7th terms of  are in A.P. then 

  

R : If the coe�cients of rth,  terms of  are in

A.P. then 

A. Both A and R are true and R is the correct explanation of A

B. Both A and R true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

(1 + x)n

n = 7 or 14.

(r + 1)th, (r + 2)th (1 + x)n

n2 − (4r + 1)n + 4r2 = 2.

https://dl.doubtnut.com/l/_iUV6qyBE5bo0
https://dl.doubtnut.com/l/_QCCKG2cEeO5C


Answer: A

View Text Solution

2. A: If  where, I, n are positive integers, 

then I is an odd integer and   

R : If  where  are positive integers, 

 then  

i) I is an odd positive integer 

ii) .

A. Both A and R are true and R is the correct explanation of A

B. Both A and R true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

View Text Solution

(5 + √24)
n

= I + F 0 < F < 1

(I + F )(1 − F ) = 1.

(a + √b)
=
I + F I, n

0 < F < 1, a2 − b = 1

(I + F )(1 − F ) = 1

https://dl.doubtnut.com/l/_QCCKG2cEeO5C
https://dl.doubtnut.com/l/_QwpLD5zsQcNx


3. A :   

R :

A. Both A and R are true and R is the correct explanation of A

B. Both A and R true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

View Text Solution

3. C0 + 7. C1 + 11. C2 + …. + (4n + 3). Cn = (2n + 3)2n.

a. C0 + (a + d). C1 + (a + 2d). C2 + …. . + (a + nd). Cn − (2a + nd). 2

4. A :   

R :

C0 − + + − …. + ( − 1)
n

=
C1

2

C2

3

C2

3

Cn

n + 1

1

n + 1

C0 + x. + x2 + x3 + …. + . xn =
C1

2
C2

3

C3

4
Cn

n + 1

(1 + x)n+ 1 − 1

(n + 1)x

https://dl.doubtnut.com/l/_QwpLD5zsQcNx
https://dl.doubtnut.com/l/_81T3Mfp8b7vV
https://dl.doubtnut.com/l/_1c2zXXy0JXEG


A. Both A and R are true and R is the correct explanation of A

B. Both A and R true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_1c2zXXy0JXEG

